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Padam Purshkar /93] I35

1.

1.

I Current Affairs I

When was the Padma Awards started?
] TERT Al Q[T A gs AT ?

(a) 1953 (b) 1952
(c) 1951 (d) 1954
Padma Awards are given by whom?
T TERT [ T TeTe T ST §7
(a) Prime Minister/ T&TaH=T

(b) President/ Trgafa

(c) Vice President/ S9¥Tgafa

(d) Governor/IrSTUTA

In how many categories Padma Awards are given?
ey et fRaet Ao § wa B ST g7

(a) Padma Bhushan/ 93797

(b) Padma Vibhushan /=T farsgeror

(c) Padma Shri /93] =it

(d) all the above /3T =T

Which is the highest award given in Padma Awards?

T EERL | T ST aTelT Jatg [T i 97 8?
(a) Padma Vibhushan,/ 93T farsgeor

(b) Padma Bhushan/ 97T
(c) Padma Shri/ =T =it
(d) None / None

How many persons were given Padma Awards in 20237
2023 § 9] [TERE T Tohae saforal & 3 1 2

(a) 105 (b) 104

(c) 106 (d) 103

How many persons were given the Padma Vibhushan
award in 20237

ey fersuor qeEenTe 2023 # foae sfrat &1 faam e

(@) 5 (b) 8

(c) 6 (d) 15

How many persons were honored with Padma Bhushan
in 20237

2023 ¥ 937 U1 & fohae sAfpa & qerea BT e
(a) 6 (b) 9

(c) 4 (d) 14

How many persons were honored with the Padma Shri
award in 2023/

2023 ¥ frae =afeat &1 uapft e § g R
T?
(a) 65
(c) 91

(b) 85
(d) 100

Budget

In the budget 2023-24, seven priorities have been
mentioned for Amrit Kaal, by what name have they been
addressed?/ ase 2023-24 ¥ FHT FA & oo &@7q
maﬁmmwﬁﬁ%ﬁ%&mﬁa@ﬁa%w

(a) TEHETEIT /Saptmaharishi
(b) FEET /Great Bear

(c) #rEarfer Saptabodi
(d) sEEga /Santsandhav

In the budget 2023-24, how much loan has been allocated
to the animal husbandry, dairy work and fisheries sector?

Fole 2023-24¥ TEATAA, AL FA T qrfceTahr &7 F
Foraft erTfor &7 =T sraes T AT 2

(2) 15@m@ FU0E /15 lakh crore

(b) 10 AT /10 lakh crore

(c) 25@m@ FUE /25 lakh crore

(d) 20 & = /20 lakh crore

By what name has Nirmala Sitharaman addressed coarse
grain (millet) in the budget ?

T Hrareor T aste § Hie d49Te (Ferew) & e am
T FrTad o T g 2

(a) Shrianna/ =t st (b) super food/ IX &S

(c) richfood/ %= (d) NOT/ 5% & #E &}

At which place has the Finance Minister talked about
opening a research center for the research of Milets?

o w3t 7 feed & aqaa™ & o & e w s
ATHTT Fx @A ¥ a7 Fial &

(a) New Delhi/ 7% faweft

(b) Lucknow/ sT@3

(c) Bhopal/ #T9Te

(d) Hyderabad/ g=¥TaTs

Which fund has been announced to encourage innovation
startups in rural areas?

YTHIOT &7 § AT T21E 379 &l TeATad H & (o o
T 3T EATIAT T =907 6 T 32

(a) Tﬁ TATATE FIT /Agricultural Innovation Fund

(b) FfTr F¥T FT /agricultural supply fund

(© Tﬁ i F1T /Agriculture Accelerator Fund

(d) = & FIE 721 /None of these

Consider the following statements regarding the health
sector in the budget

TE H TArEA &7 F qrg # = w07 ffEw i

1. Establishment of 157.new nursing colleges /157 9CQ
LIENEIEEEIR2INEI

2. starting sickle cell anemia eradication Choose the
true statement from the following / TafFe &
TAITHAT ITHAT F FEAT

e 7 Fo7 oI F7 I Hord

(a) only 1/ &< 1

(b) only 2/ Faet 2

(c) both1and 2/1 3fiT 2 TET

(d) None of these/ T & TS Tl
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10.

11.

12.

13.

What percentage of GDP has been spent on health in the
budget 2023- 24?
TS 2023-24 H TATET T ST T e Tfaerd =2 fm

TATE ?
(a) 1.1% (b) 3.1%
(©) 4.1% (d) 2.1%

What percentage of GDP has been spent on education in
the budget 2023-24
TS 2023-24 | fre w2 ST F1 fhae ghaerd =757

TATE 77

(a) 1.9% (b) 2.9%

(c) 4.9% (d) 21%

Consider the following statements regarding the

education sector in the budget

e 1T & & ey | e FEAr o7 = S

1. National Digital Library for Children and Adolescents
to be set up / FFT A< Fre=r % forw g Rives
AT Y TTYAT Y SATOAY

2. Libraries will be made at panchayat and ward level/
AT T ATE T I¥ [EAHTAT TATT ST

Which of the above statement is true

IULE § | A 97 FI9 9F 8

(a) only 1/ Fae 1

(b) only 2 Fae 2

(c) both 1and 2/1 3T 2 AT

(d) None of these/ T & IS Al

How many Eklavya schools have been announced to be
opened recently in the budget?

T &1 § ae § Fohae UFhersq T @Il S & =T
URLE

(@) 720 (b) 333

(c) 878 (d) 740

A &1 | a1 | 5g FAT SMeTia sreefreherd feoeme & for
e SRIRTQrTeATst Y =T st e

How many laboratories have been announced in the
recent budget for 5g service based application
development?

(a) 200 (b) 150

(c) 100 (d) =7H & FIE 7Lf

A &1 H aoie § SATTAT4% SUAAT AT gHTS =ATHT 6 START
T T FATIAT T =907 7 T4

The recent budget has announced the setting up of for the
use of business enterprises and charitable trusts

(a) Entity Digi Locker/ Tfe2T It afae
(b) number Digi locker / H&AT SISt ATHT
(c) Virat Digi Locker / fa=Te Sisft At
(d) None of these / TAH H &I Al

Fote | gia e e & =ofir sreferae T & 9gmEr a9 &
T foF TTST & qgd AU SEfg ¥ o9 697 s
EIEEARCIEUIETRIC i

In order to promote circular economy in the green
development sector in the budget, under which scheme
new waste-to-money plants have been announced to be
set up?

14.

15.

16.

17.

18.

19.

(a) gobardhan scheme /Tae Ty

(b) farmer scheme /fFTH & H

(c) green plant scheme / ga &= =hi
(d) None of these/ ZTH & IS Tl

The establishment of Unity Mall has been discussed in the
budget, which is indirectly related to which scheme of the
Central Government?

TSI § FIALT HIeT il TITIAT 0l =TT %01 TAT & TOIEHT Toeae
el g AT T Foh FeAT | 8

(a) one nation one ration card /U ¥Tg T T FTS

(b) one district one product/ T et U IcqTE

(c) one country on/ T 29T T qﬁm‘rrf

(d) None of these/ T & IS Tl

Which scheme has been announced in the current budget
for women to deposit up to 2 lakhs

AigeTar & forw 2 ara q i i ST w7 F o aqqe

FoTe H o6 FrstaT At = it &t g

(a) Mahila Samman Savings Letter /HTgeT HFHTH T=d T

(b) home household savings plan / =¥ T F=d JISTAT

(c) Prime Minister's Women's Account Savings Scheme /
TTAHT AT GTAT F=d ST

(d) None of these / TAH & &I qG!

Whose establishment has been announced in the budget
to expedite the execution of administrative work under
the Companies Act?

Fole | AT ATAHIH F q8aq TemaiaT w1 & Aeorad |

St AT 3 fory TRt w2 it = i ot g a2

(a) Central Company Administration Center / F&rT
FFIAT TATHT H5

(b) Central Administrative Reforms Center /¥&td
JATAH AT FiF

(c) central data processing center /3T STeT HHTEA %

(d) None of these /= H & #Is Tl

How many years of interest free loan has been announced
to the states under fiscal management in the current
budget?

FATATT TS H TSR T o FANT Tl 0 e a9
T ST H<h 0T YT T il ST T T4 &

(a) 25years /2599 (b) 45years /45 99

(c) SOyears /50 a4 (d) 22years /22 a9

In the new system, the income limit for income tax
exemption has been increased to how much?

TAT ZEEIT | A g & o7 o AT F Ferd] Hhaer
F T g

(a) 7lakhs /7 9= (b) 5 lakh /5 9=

(c) 8lakhs /8 @IT& (d) 3lakh /3 9T&

Under the new tax regime, the highest surcharge rate on
income above 5 crores has been reduced to how much?

TAT FT FAEAT F AT 5 FAUAL F ATYF T AT 9T IFAA

AT 3T AT FeTae haar a2 e mar
(@) 25% (b) 27%
(€) 15% (d) 33%
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20.

21.

22.

23.

24.

25.

26.

FARTT TSIE  AHTE 297 § T T U F qraee § qa9
FET A fohEaT 8

According to the current budget, who has the largest
share in relation to the receipt of rupees in the country?
(a) loans and other liabilities /70T 3% v 7T

(b) Corporation tax /f"Te T

(c) GST/GST

(d) None of these /Z7H & &S Aol

Which of the following personalities presented the
budget in the Parliament during the tenure of both
Jawaharlal Nehru and Indira Gandhi?

= 2T F19 T AT 7 STAT8T AT Ag i< iy aieft
T & FTARTA | Ha | Fofe gor o =m?

(a) Ballabh Bhai Patel /e ATS Tee

(b) Morarji Desai /HTTTSIT 36T

(c) R.K.Chetty /3. %. =gt

(d) T.T.Krishnam /&t. &, FeormT=mr

"Te" 9TeT TR ATHT T 95T €7

The word "Budget” is the word of which language?

(a) French/ ] (b) German / ST

(c) Hindi/ &1 (d) Farsi/ ®TeHT

Who was the Finance Minister who introduced "Service
Tax"?

F & UF A w5 O [reEi “ service tax" & AT
(introduce) fF=T?

(a) Morarji desai /TSI 2@TS

(b) Arun Jaitley /3T®0T Sieeft

(c) Manmohan Singha /#=HTE" &g

(d) Yashwant Sin Feraq g

Who among the following presented the first budget
(interim) of independent India?

TAH | o Tad = AT &1 UgAT aoie (FTRH) Tor 6 am?
(a) Manmohan Singh /F=HTg+ f&g
(b) Jawaharlal Nehru /STaTg< AT g%

(c) R.K.Shanmukh. /&%, %. T0q@EH g
(d) Nd. Tiwari /u4. . faarr

How many times the budget can be presented in an
election year ?

FATE AT a9 (Election Year) ® aste fohait < et faham ST
qFHAT 87

(a) Only once /f&r% U= T

(b) not even once /T T off A&

(c) twice /2T TTX

(d) three times /d19 AT

Which Finance Minister holds the record of reading the
longest budget of India?

AT T T A&7 aoie qgd #71 s o P @t s aw g
(a) Arun Jaitley /3T%0T Sfeeft

(b) Nirmala Sitharaman /¥ Hraresor

() Manmohan Singh /A= &g

(d) Venkaiah Naidu /35T AT9g

27.

28.

29,

30.

1.

Which ministry of the Government of India presents the
Union Budget ?

AT HYHTT HT I A7 HATAT F3 1T ToI€ TEqd AT 872
(a) Ministry of Défense /T&AT HATAT

(b) Ministry of Finance /3= e

(c) Ministry of Home Affairs /& HaTed

(d) Ministry of External Affairs /far=er #amera

According to the current budget, in relation to the

expenditure of rupees in the country, who has the largest
share?

FARTT T 6 ATATE 39T H YT F =47 F qraee § T a7
T Rt 8

(a) loans and other liabilities /70T 3T 37T IFATH

(b) Corporation tax /fvTd &%

(c) interest payment/sqTST AT

(d) None of these T7H & FIS Ta!

How much amount has been allocated for the
development of the pharmaceutical industry in the
budget?

FoTe | BIHTEI R ST % [awTH o T fahaeT emerfer &7

reed AT AT B
(a) 1000 FTE (b) 1250 FUg
(c) 900 Fre (d) 300 FrE

FAHT Tt | e AT T gatfersd sraed fhar mar g

Which ministry has been allocated the maximum in the

current budget?

(a) Ministry of Road Transport and Highways /Hs#®
fagd e TSR JATAT

(b) Home Ministry /i[g HaTed

(c) Ministry of Defence /T&T HaTAA

(d) Ministry of rail /¥ HATAT

Miscellaneous Current Affairs

National Education Day is observed on which date ?
T foreT feas fore aTire &1 /91T STar g ?
(a) 24 January (b) 10 November
(c) 11 November (d) 12 November

How many cricketer got ICC Hall of Fame till now (Nov
2022)?
Toraer fohehel T o1 T (Faa 2022) ICC giet 31 T/ AT

el
(a) 104 (b) 106
(c) 108 (d) 109

How many Indian cricketer got ICC Hall of Fame till now
(Nov 2022)?
TR ATt forere i T o1 @& (Fda 2022) ICC i 3

e 82
(@ 5 (b) 7
© 9 (d) 10

Shivnarine Chanderpaul awarded with ICC Hall of Fame
in Nov 2022, he was belongs to which cricket team ?
forEaTT=T Sgata #9997 2022 § ICC g (% &7 &
T T T, 9 e e S & getaa a7



https://www.adda247.com/product-books/25515/yogdan-samanya-adhyan-book-2500-bilingual-mcqs-printed-edition-by-adda247

1l STATIC GK-(A) 1l
7. Arrange the states in descending order on the basis of

literacy rate as per census 2011
STARTOTAT 201 15 SITETE ATAAT 2 % ST 9 TSAT il qed

1. Emmy Award is the highest award in the United States of

America /TFHT qZERTT HYH TS FHHT F1 67 &1 F1 2 A A A
g T g 1. Goa /3TraT
(a) medicine/ f=rreaT (b) Sahit /aTfRa 2. Maharashtra /qERTE
(c) Television /Zefifas=  (d) Journalism /a=rTar 3. Mizoram /R
2. Who wrote the book 'Mitakshara'?/'faTea=T’ RESER [ED:C 4. Himachal Pradesh /fgaT=er Jaer
fordt 2 Select the correct answer using the codes given below
(a) Nayachandra /3= Ao e F e wagr AT A A F () 3, 1, 4
(b) Amoghavarsha /sr¥r=ad and 2 (b)3,2,4and 1
(c) Vigyaneshwar /fasT=a< (c)1,3,4and 2 (d)1,3,2and 4
(d) Kamban /F¥a 8. Who among the following is related to 'Microsoft'?
3. "One Straw Revolution" was written by : frafafe & & 77 W EEEIRERN]
"o gt Yo er" forET o (a) Andrew Grove /Ursg AT
(a) Rachel Carlson /R=r et (b) Bill Gates /fare Tz&
(c) Norman Borlaug /19 SEaART (c) Ted Turner /2= &i¥ §
(b) M.S. Swaminathan /UH.UH, TETHATIA o (d) Rupert Murdock /®7¢ Y31
(d) Masanobu Fukuoka /ATHTATE FF=HT 7 9. Please match these/qH{d HIforT
4. The Indian women to win the Miss World award are country /391 capital /TTSTETT
e arore QEERTE Staw aret AT wigerrd § a. Nigeria /ATgsiiTaT 1. Tripoli /Brar=tt
1. Rita Faria /3rat wrfan b. Libya /ferfa=m 2.Damascus /SHERY
2. Aishwarya Rai/T=aT T c. Mongolia /HTTTeraT 3. Abuja /3T
3. Aishwarya Rai /@1 &1 d. Syria /=TT 4. Ulan Bator/3@ F2I¥
4. Yukta Mookhey /T<% q&T Code:
5. Diana Hayden /ST9HT 8849 A B cD
6. Priyanka Chopra /ST =921 EE% ; g i 411
(@)1,2,3,4and 5 (b)1,2,4,5and 6 © 3 2 4 1
(c)1,3,4,5and 6 (d)1,2,3,5and 6

d4 3 2 1

5. \(/}vﬁrcr;lrr;iyel?iward is gigghMOTIQIalQRlegoibutn 10.. The largest lake in the world in terms of area is
. SR o g2 | o i qag aSr AT ¢
IHT R 6 & § e & for fe=m Strar '
5 ST T T (a) Lake Baikal /&rer =fter
: b) Caspian Sea/FfeTa aTT
(a) in the field of literature /ATfEeT & & & E ))Laliplsn i?/r/ ARrore 2fer
(b) In the field of environmental protection /IITa<or c)Laxe uPe °
e 3 8 (d) Lake Erie/Z3Y ==
(c) in the field of music/®R{Ia F &= & 11.. Match /g#fera #rfsm
(d) in the field of journalism /T=TI¥T & & List 1/F+T | List 11/5=T 11
6. Which of the following statement(s) is/are correct? (Folk Art) /(.?’ﬁ_oﬁ el ) (State) /(TT5¥)
B FAFF F T T FAT ?T*'Qﬁ' %/% 9 A. Rangoli ST 1. Maharashtra /AgIg
1. The Border Security Force was established in 19to B. Sathiya /4 2. Gyjarat ASAE
guard the international borders C. Mathrena /Tattoo /7T 3. Bihar /fergTe
HT AT I T TATOAT 198 Seqeigry HATe i D. H¥m 4. Rajasthan /TrsTeTT
=Rt B AT T Code:
2. Its headquarter is in New Delhi A B CD
THHT YEATAT 7% et 7 2 % 12 21 g j
Code
(a) 1 only (b) 2 only (3) 3;1- 43 5 1
(c) Both 1 and 2 (d) None of these (d)
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12.

13..

14..

15..

16.

17..

18..

19..

20.

. By which parallel line was Korea divided?

FIRAT FT AT 6| qHTeaY @1 g1 6T 1T a7 2

(a) 48T (b) 354

(c) 3641 (d) 38t

Which of the following is the largest aircraft carrier of the
Indian Navy?

3 § & arecfier SEET 7 qEH T=2T UAGHTR AT HI g7
(a) INS Vikramaditya/INS fasaTaeT

(b) INS Nilgiri/INS F=rfrfx

(c) INS Chakra/INS =%

(d) INS Fashi/INS fashi

Who was the first Indian to win the Magsaysay Award?
I ERY TosraT qgel A Hi o ?

(a) Indira Gandhi/zfvazT wieft

(b) T N Seshan/& U= 9o

(c) Kiran Bedi/f3¥ st

(d) Vinoba Bhave /fa=TaT ATar

STRTOET 20115 ST STHEEAT J4<d & A 9T Fed gu
FH | AT T AT Y

Arrange the states in descending order on the basis of
population density as per Census 2011..

1. Bihar /fE® 2. Uttar Pradesh/3<< a9T

3. Kerala /% 4. West Bengal /qt%% sRTTe
Select the correct answer using the code given below
et $e F e 9% 987 I FT F99 FE
(@)1,2,43<3 (b)1,2,3 3T 4
(€)1,4,3 T2 (d)1,4,23i%3

.Who is considered as the Grand Old Lady of Bollywood?

FiAGE A 77 ol Atear (I sdree r) om A1 St 22
(a) Zohra Sehgal /STTT &g

(b) Nargis/a<Re

(9] Suraiya/ﬂ%éﬂ

(d) Madhubala/®g=TeT

With which sport is Deepa Karmakar associated?

ST T e B T g E 7

(a) Swimming /3Tt (b) Badminton/ d=fias

(c) Gymnastics /fSrTfeas® (d) Athletics /Toretfea

How many astronauts have visited the moon?

Toraer siafeer arf=e 7 =i i G Fr 8?7
(a) 2 (b) 5
©)8 (d) 12

Who wrote the book 'An Era of Darkness', which
describes the grim realities of largely colonial India?

T AT A ST EdE e o g, S 9% fme uw
ArafAa o AT i T aTEatawaret 7 au w52
(a) Chetan Bhagat/=a« s3Tq

(b) Shashi Tharoor/9Tfar 9%%

() B. s. naipaul /2ft. TH. AT

(d) Salman Rushdie /T F9aT

.The Physical Research Laboratory was established by

(a) S. K Mitra/u#. & fa=m

(b) C.V. Raman /. &T. THOT

(c) Homi Bhabha /Zr¥T srem

(d) Vikram Sarabhai /fasa aeT9TE

1. What is the full form of SAFTA

SAFTA &T 07 &9 T g

(a) South Asia Preferential Trade Agreement /HT3J
uforT fredfrere T2 wfiae

(b) South Asian Free Trade Area /AT3¥ Ufdraa it 2
wfear

(c) SAARC Preferential Trade Agency /& YTHferae 22
TS

(d) South Asian Free Trade Agency /T3 U9+ Wt 22
I

Which is the capital of Myanmar?

TATHTE T TSLTAT HIA-ET g ?

(a) Mean /g@HIA (b) Naypyidaw /ATUeftet

(c) Yangon /ATARTIA (d) Mandalay /¥T=e

For which fields Kalidas Samman is given?

FTTerare TV fohe &t o fore fear sirar 8 2

Classical Music /9= w3fta

Classical Dance /9T T

Figurative Arts /&9 HdT

Performing Arts /T¢I FHeAT

Tribal Art /3mfeaTHt Far

6. Folk Art/=T T

Code

(@)1,2,4and>5

(c)1,2,3and 4

Match /HHTerd o
ListI /g=T 1

A. Pandit Durgalal /9fv=q | 1.

AT

B. Lal Gudi Jayaraman /&1t | 2.
T SERTHA
C. Bal Murli Krishna /9T | 3.

AT T
D. Amrita Sher Gil /3THdT | 4.

D
Code:

A B
(@2 1
(b) 1 2
© 3 1
d 2 4
What is the emblem of the United Nations
HH TP FH T IAF (e F47 &

(a) Hippopotamus /ZATE =TET

(b) Green colored tree /2¥ I & UE
(c) Red Cross /T e

(d) Olive leaves /ﬁ?ff #r qfr

U1 b W

() 2,3,4and
(d) All of these

List II/g=T 11

Instrumental

music /3T T
Danc/ X

Painting /f=r=r&ar

Vocal Music /&03
T

WA
AW wyg
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10..

11..

12.

13.

Pandit Jasraj was a singer

KIESEERERIRER]

(a) Ghazal singer /TSIt TTTh

(b) Khayal singer /&7l 6

(c) Classical singer /9TT& T

(d) Dhrupad singer /¢a< T

Silent Valley Project is related to which of the following
states?/HTEeve =T Wior#e (Silent Valley Project) #T
ey Mefofaa s a s a g2

(a) Karnataka /#FATesh

(b) Kerala /3%

(c) Maharashtra /Agrarg

(d) Himachal Pradesh /f2am=r waer

Who was the first woman President of any country in the
world

s o TorefT oft ot Y worw wigET Trgata & off
(a) Pratibha Devi Singh Patil /ST 2=t &g urfeat
(b) Marma Estella Isabel /ATHT T&HT TTaet

() Vidya Devi Bhandari /fa=m 3=t \qostéy

(d) Aung San Suu Kyi /317 |79 q #it

Astra is a missile system

o e feen g

(a) air from the surface /&dg & 4T

(b) surface to surface /9dg & 9dg

(c) air to air /AT & g4T

(d) Anti tank missile /& & AT

India has signed an agreement for joint production of a

state-of-the-art submarine named 'Scorpion’ in the
country itself.

AT G TG A" qTHE AATLAF TAgeaT HT T H af
T ITATEA g AHATAT AT 77 8

(a) Britain /fae & (b) from France /% &

(c) Russia /&9 & (d) From Ukraine /Zoe &
Where is the headquarter of G-77organization

G-77HT5A T q&ATAT Fgl &

(a) Geneva /ST=aT (b) Belgium /afesrae
(c) New York /=% (d) Paris /ot
. Taiyuan is the satellite launch center of which country?
TSI [T 9T T ITIE AleA el g
(a) Taiwan /dTSdTq (b) Uzbekistan /3safrear
(c) China /=1 (d) Japan /STTaT

Arrange the states in increasing order on the basis of
density as per census 2011

STATOTAT 203 AHTE 59 F ST I FEd g0 FH § 11541
T AT Y

1. Mizoram /fAst<s

2. Arunachal Pradesh /3ToTT=el 729

3. Sikkim /f&rfEH

4. Nagaland /ATITATE

Select the correct answer using the codes given below

e e % sram o qE 3T A qAT B

14..

15..

16..

17..

19..

20..

(@)2,3,4and 1 (b)1,2,3and 4
(©)2,1,3and 4 (d)2,1,4and 3

Apart from quinine, which one of the following herbal
medicine is used for the treatment of malaria?

TAT F A Aafad § § FT UF qrE S
HATAT % ITATL 6 o7 T 6T AT 2 ?

(a) Arthur /3mEtaT

(b) Glace /3o &

(c) cineraria Lutevit /Fiflﬁi

(d) cineraria /fRr¥faT

Paddy and Jut are the crops of which climate

T4 Ud S o STararg i 78 2

(a) Temperate climate /I STeraTy

(b) cold climate/sfra EEEIRY

(c) dry climate /[t STTaTg

(d) Tropical wet climate /ST eaeeiiTr 3% STAaTY
Which of the following is a raga of Carnatic music?
eferferd § & 9-a7 Fteh G301 &1 TF T 872

(a) Tappa/ a1

(b) Thumri /gAY

(c) Khayal /@3t

(d) Sindhu Bhairavi/f&e 73T

With which sport is Shivshankar Prasad Chaurasia
related?

foraers R AR AT Hdy A T g 2
(a) Golf /=

(b) Archery /daTSIt

(c) Table Tennis /2 =f=&

(d) Football /W:l‘?'l'

........ was the remarkable personality behind the historic
Mars Orbiter space programme.

...... ufagTees #re sAtfder sfafver FrEsa & die Seaadia
Ffehe o7 |

(a) Kiran Kumar /f3or 91T

(b) G. Madhavan Nair /St OT&rE= AT

(c) K. Radhakrishnan/ % TT&Taeora

(d) Kasturirangan /= FEqZ I

Who is the author of the book 'Lone Fox Dowsing: My
Autobiography'?

T HIF ST : /TS AT &A% % oT@% Hid g ?
(a) Ruskin Bond/T¥F afve

(b) Arundhati Roy/si=efa T

(c) Shobha De/eTr4T T

(d) V.S. naipaul /3t.TH. M9t

Which country has won the maximum number of Oscars
till date in the category of foreign films?

e ot 7 fAeft foewt &t aoft ¥ e T stfereray siess
ERTT S 8 ?
(a) Italy /Ze=AT
(c) Japan /STTaT

(b) France/ %
(d) Spain /==
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I

STATIC GK-(B)

I11]

Who among the following called himself 'Hindustan's
parrot'?

eforfea § & e ga &1 Regear &1 AT #igr 9n
(a) Malik Muhammad Jayasi /Tle@I'EF HeH< STt

(b) Raskhan /THETT

(¢) Amir Khusro /3THIT @Hﬁ

(d) Amir Hassan /Wﬁ'( gaq

The place of birth of Amir Khusrau is?

FHIT GHIT & S+ T 872

(a) Patiali /9TeTeAT (b) Kasganj /FTHIST

() Kanauj /FTST (d) Lucknow /d@3;

Whose disciple was Amir Khusrau?

FHIY g e fore o

(a) Saifuddin Mehmood /&I AEHE

(b) Nizamuddin Auliya /ﬁﬂ'l’ﬂ@? rferar

(c) Asadullah Baig /3THgATE T

(d) Moinuddin Chishti /q=qz 17 f=rect

What was the real name of Amir Khusrau?

FHIY T FT ATEA A ATH FAT 917

(a) Muhammad Hassan /Hg+H< 97

(b) Muhammad Hussain /HgFI< g’ﬁ?

(c) Muhammad Khusro /Hg+H< @'Hﬁ

(d) Muhammad Khan /Hg+Hs @1

Amir Khusro was the court poet of which ruler?
STHIT g e oTTae & TRETT FAT A

(a) Chandragupta II /?331?‘1’ EGES

(b) Alauddin Khilji /3reTSe fretstt

(c) Qutubuddin Aibak /ﬁﬂ'ﬁﬁ? REED

(d) Harshavardhana /'&"GT?I'%%T

Who was the great Hindu law maker?

e fewg e Aefar o 2

(a) Kapil /&foe (b) Kautilya /Ftfee

(c) Manu /A9 (d) Vatsyan /aTceaT

Who is considered the founder of the Sufi community in
India?

AT & ol ATETT T HEATIF fohe /AT STAT 87

(a) Qutubuddin Bakhityar Kaki /ﬁ@'ﬁ? e Freht
(b) Nizamuddin Auliya /ﬁ?ﬂ'ﬂﬁ—rf #rferT

(c) Moinuddin Chishti /ﬂéﬂ’%ﬁ? redt

(d) Naseeruddin Mahmud /H’@'b_?ﬁ_rf HeH<

When was Prophet Muhammad born?

AT HEFAE T ST FF gl AT ?

(a) 570 AD /570 . (b) 622 AD /622 %.

(c) 642 AD /642 <. (d) 670 AD /670 .

When was Guru Nanak Dev born?

% ATF 3F & ST7H Fd gl IT?

(a) 1449 AD /1449 . b) 1453 AD /1453 5.

(c) 1469 AD /1469 <. (d) 1499 AD /1499 <.

10.

11.

12.

13.

14.

15.

16.

17.

Chaitanya taught -

= o forar < -

(a) Bhakti /~7f=F &t (b) Knowledge /5T &t

(c) Quietness /aXA &I (d) Sufism /THT 7T HiT

By what name did Guru Nanak's disciple 'Lahna’ later

become famous?

T® AT9F FT e ST o Ferwe fh a7 vt

ger?

(a) Amardas /3IHIIH (b) Agand /3=

(c) Ramdas /TTHaTH (d) Arjun Das /3TS[ 39
Who was Tyagaraja?

TS I 27

(a) Politician /TTSIHITAs  (b) Scientist /A=ATAF
(¢) Musician /&53ias (d) dancer /7%

Who is known in the world of music by the name
'Magician of Sitar'?

Tfta T g § A % ST AT & R S Sar
Bl

(a) Tyagaraja /IS

(b) Tansen /TTEA

(c) Rahim Sen /T&1H |

(d) Purandar Das /ER?T 23

What was the real name of Guru Nanak?
[EATE HT ATEqtae q19 27 ?

(a) Agand /3FTE

(b) Lahna /=T8T

(c) Nanak /AT

(d) Narendranath /W‘I’?’I

What was the original name of Tansen?
TATTE T A ATH IT?

(a) Makarchand Pandey /AF¢=g 9

(b) Ramtanu Pandey /YTHAT e

(c) Lala Kalawant /&TAT FeATadq

(d) Baz Bahadur /9TST 9g1gY

What was the real name of Gautam Buddha?
TR e T ATTEAAS ATH AT ?

(a) Siddhartha /fargTef

(b) Narendra /o3&

(c) Devdutt /éﬁ?ﬁ

(d) Vishal Dutt /farerrera

What was the real name of Swami Vivekananda?
ATt AT T arieaas 979 o7 ?

(a) Batukeshwar Dutt /a@%r{ =550

(b) Narendranath Dutt /Fﬁﬁ?ﬂ'g’l =55)

(c) Krishna Dutt /%07 <1

(d) Surendranath Dutt /WT?I <

—
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18.

19.

20.

21.

22.

23.

24.

What was the original Chinese name of Confucius?
FER[EAH FT AT = AT ATH T ?

(a) Lao Shru /=T3r (b) Wu-Wang /g-a1 T

(c) Kung-Fu /%-% (d) Meng-shru /®3T-51
What was the real name of the famous Urdu poet Mirza
Ghalib?

I3 T HLrgT A AT wrfera T Arfeqasd 9 o7 2

(a) Mushtaq Ali /2T AT

(b) Asadullah Khan /3#geTg @1

(c) Saifullah Khan /ﬁ"ib?ﬂ g7

(d) Yusuf Khan /9% @7

Who said - 'Delhi is far away'?

e gr o - et anfr g2 g2

(a) Amir Khusro /Wﬁ'{ EI;,'H'@F

(b) Nizamuddin Auliya /SITEI siferT

(c) Firoz Tughlaq /0T Qe

(d) Sheikh Salim Chishti /9r Tt foredt

Who has said this line 'T:@ H 99 AT F, @ § HL T
F'?

TG H 9T A T, G H FL T HA T dien 60T gl
g2

(a) Mirabai /Hi=zTaTs (b) Surdas /gZaT®
(c) Kabirdas /#5¥a™  (d) Tulsidas /A& T&TH
Which  religious text has a quote from

'Karmanyevadhikaraste Maa Phaleshu Kadachana'?
FHOIATIRIE AT FAY HaTadT 6 a7 I 6T I
7

(a) Shrimad Bhagwat Geeta /Sﬁﬂwwa-cr far

(b) Ramcharitmanas /Wﬁﬁ'ﬁﬁ'ﬁ

(c) Ramayana /TTHTIOT

(d) Jayadratha Slaughter /STI& 94

Who said - 'Ram and Rahim are two different names of
the same God?

e T AT - T ST T UF &1 AT 6 T ST -
T AT &7

(a) Guru Nanak Dev /3% |19 ECH

(b) Kabir Das /WT |

(c) Swami Vivekananda /FaTHT faeemg

(d) Mahatma Gandhi /9&TcHT TTeft

Who gave the slogan "Return to Vedas"?
“ART AT AT AL HT AT Fhae fo=qm oam?

(a) Swami Dayanand Saraswati /Fﬂ"ﬁ“ TS Tl
(b) Narendranath Dutt /HWT?I &)

(c) Bal Gangadhar Tilak /ITeT FRTTE IEKED

(d) Vishnu Shastri /ﬁ"sﬂl ot

25.

26.

27.

28.

29.

30.

31.

32.

Who was the disciple of Sant Kabir?
| 1T foheeh forer o

(a) Ramanujacharya /‘TI'H'IﬂTrl'I?'Pf
(b) Ballabhacharya /aeTsT=TH

(c) Narharidas /HT'{&TI’H’

(d) Ramanand /TTHTHS

Who was the Guru of Sangeet Samrat Tansen?

T FYTE AT % & B o 2

(a) Ramdas /T¥Ha™E (b) Haridas /gRaTe

(c) Ramanand /TTHTHE (d) Ramanuja /XTHTIST
Where was the originator of Sikhism Guru Nanak Dev
born?

o o & Yad® [E A% aF AT S0 Fgl ol o7 ?
(a) Amritsar /SHIET

(b) Anandapur /3T*<X

(¢) Talbandi /q=Tast

(d) Patna Sahib /72T TR

The birthplace of 'Gurugovind Singh’, the tenth and last
Guru of the Sikhs, is -

et & T9d 37 sifaw % Ertare e f St
3.

(a) Nanded /ATe®

(b) Talbandi /q=T&ET

(c) Amritsar /STHdHY
(d) Patna Sahib /72T T g

Where was the Prophet Muhammad, the originator of
Islam, born?

TEATH ¥ % TAdh I GEFHE il o gl gar o7 ?
(a) Medina /9<HT &

(b) Mecca /H&T )

(¢) Baghdad /TaTe &

(d) Tehran /d8a+ &

The birthplace of Gautam Buddha, the founder of
Buddhism is -

FTg o7 & TaqF NaH I 61 STHETAT -
(a) Lumbini /ﬂ'&a_'ﬁ'

(b) Kushinagar /f?ﬁ'rﬁ'l’(

(c) Rajgriha /XTSI g

(d) Kapilvastu /Eh"ﬁ?'l_al"x-_g,’

Where was Adi Shankaracharya born?
TS STFTATH T ST Fgl gall o7 ?

(a) Kashi /#Teft

(b) Kaladi /FeTar

(c) Kanchipuram /%‘iﬁ'&'@l’

(d) Madurai /93

Which place is not related to Gautam Buddha?
T T T TqH 5 & TFeed Tei 87
(a) Sarnath /HTLATT

(b) Bodh Gaya /IT&RTAT

(c) Kushinagar /{f-‘@ﬁﬂ"’l’(

(d) Pavapuri /‘ZIWT‘EL'E[

—
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33.

34.

35.

36.

37.

38.

39.

40.

At which place did Mahatma Buddha give his first
Dharmachakra-turning?

HETCHT G5 « ATAT TIH gH=h- Tade (el ST 92 f3a7
oqT ?

(a) Lumbini /&t

(b) Sarnath /ATEATT

(c) Pataliputra /‘TITE']%I'?T
(d) Vaishali /39TTett

THT HEIg T ST77 gl g o7 ?

Where was Jesus Christ born?

(a) Beirut /a"c_cr )

(b) Bethlehem /IT=TEH |

(c) Bevillon /aﬁ?'ﬁ_rf u

(d) Abbey /TUsT H

With which legend is the place named Magahar related?
TRIEY ATHE T 60 AgT ey & d¥ e g

(a) Kabir/ Fei¥

(b) Buddha/ 9&

(c) Mahabir/ HgTE1¥

(d) Guru Nanak/ =T

Where was Mahavir Swami born?

HETA T TTHT &1 S+ Fgl gall AT ?

(a) Kundagram/ W

(b) Patliputra/ q‘l?f%l"fﬁ'

(c) Magadha/ H31¢

(d) Vaishali/ SeTTeft

Where did the Mahaparinirvana of Mahatma Buddha
take place?

HETHT G5 FT TGTA AT Fgl o 9T 2

(a) Lumbani/ ?f-_cl?ﬁ

(b) Bodh Gaya/ SITeRTAT

(c) Kushinagar/ '@"Qﬁ_d’fl?

(d) Kapilvastu/ ﬁ?ﬁﬂﬁ

Where did Gautam Buddha attain enlightenment?
TAH & T A 61 I Faf gat off 2

(a) Sarnath/ ATLATI

(b) Kapilvastu/ Ffaeraeg

(c) Bodh Gaya, SITeRTAT

(d) Kushinagar/ f?ﬁ_rﬁ'l'{

Where was Chaitanya Mahaprabhu born?

AT HETTH FT ST7H Fgl g o7 ?
(a) Banaras/ sqTXH )

(b) Talwandi/ qaast o

(c) Mayurbhanj/ #THS )

(d) Nadia/ ATfe=aT &

Which event of Buddha's
'Mahabhinishkraman'

life is Kknown as

41.

42.

43.

44,

45.

46.

47.

TG o SHA ol [ohel TedT I HETTHH SR & &9 § ST
ST &

(a) His Mahaparinirvana/ 39T HgTq =407

(b) His birth/ 3T ST7q

(c) leaving his home/ 3T g AT

(d) His enlightenment/ 3ThT FEIEE

Where is the samadhi of Guru Gobind situated?
T tava T FATCE o g 2

(a) Anandpur Sahib/ W H’I’fg&'

(b) Amritsar/ STHJHY

(c) Nanded/ 7ies &

(d) Nahan/ 78 &

In which city did Mahavir Jain die?

HETA T S it g o e # g4t 2

(a) Kundagram/ W

(b) Rajgir/ TTS{IT

(c) Pavapuri/ q'l_clTTa

(d) Kushinagar/ Ef-?ﬁ?ﬂ'l'{

Where was the famous Urdu poet Mirza Ghalib native?
afig 33 amax st e #gt & g a2
(a) Agra/ 3T

(b) Lucknow/ sT@3:

(c) Delhi/ fe=eit

(d) Lahore/ ATEIT

Nanded Gurdwara is considered a holy place for the Sikh
community due to whose samadhi?

et |Tfer g9 & FROT 9ieE e O 9HET &
forw afas wot 4197 AT 8 2

(a) Guru Nanak/ % AT

(b) Guru Ramdas/ % TTHIH

(c) Guru Arjun Dev/ % ?FET-!’ EC)

(d) Guru Gobind Singh/ & UNER: f’@l’a’

Who was the originator of Bhakti movement in Bengal?
T | TR AR % Tade o ?

(a) Chaitanya/ 3= (b) Ramanand/ TTHTHS

(c) Namdev/ qT9aH (d) Ramanuja/ TTHTIST
Who represented India in the famous World Conference
of Religions in Chicago?

forpTTT % wfEg g g gvem # 9 &1 aiaHfee
[ERERERIRI

(a) Swami Shradhanand/ TATHT FLTHE

(b) Swami Vivekananda/ T feawee 7

(c) Gopal Krishna Gokhale/ T e et

(d) Bal Gangadhar Tilak/ STeT IRTTE faereh o

Who was the father of Indian Renaissance Movement?
AT TASTITLOT AR o TOdT i o7

(a) Bal Gangadhar Tilak/ TeT IRTTET IGKE?

(b) Dayanand Saraswati/ dTd< qILEAAT

—
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48.

49.

50.

51.

52.

53.

54.

55.

(c) Raja Rammohun Roy/ TTSIT TITITﬁE_FT R
(d) Shraddhanand/ 9T <

Who died in the palace of Mallaraj Sastipal?
HEALTST AR % Hgd | g gs o7?

(a) Mahatma Buddha/ AT &5 T

(b) Mahavir Swami/ IIEFﬁ'( =TT T

(c) Swami Vivekananda/ Y oA i
(d) none of these/ TAY T S H’Qﬁ'

Who gave the title of 'Kanthabharanvanivilas' to the
musician and Dhupad singer Tansen?

TIas Ud g ATIHT JTHE HT FHaTaoraroi i raare”
= 3uTfer e < o

(a) Babur/ 9Ta¥ (b) Akbar/ 3THaT

(c) Bairam Khan/ S%9 @19 (d) Jahangir/ STgivI¥

Who gave the title of 'Vivekananda'
Vivekananda?

TATHT farashTE air e T ST e =T i o
(a) Maharaja Khetri/ HgTXIST EEEIC]

(b) Maharaja of Baroda/ HgIXTSIT TEET

(c) Ramakrishna Paramhansa/ TTHEHTT THE T

(d) none of these/ TAH H &S T@'

Which of the following Bhakti saints first used Hindi to
propagate his message?

wferfea o & e af~r @9 7 9o g F =R F o
TqaH Tgof fgeat 7 2T 36T 2

(a) Dadu/ =g (b) Kabir Das/ F&1< a9

(c) Ramanand/ THTHE (d) Tulsidas/ TeeTaTE
Where was Sant Kabir born?

T FHAL AT ST7F Fgl ol 4T ?

(a) Delhi/ faeeft (b) Varanasi,/ aTZTOTHT

(c) Mathura/ T[T (d) Hyderabad/ g&<TaT

In which royal family was Mahavir born?
HETATT T ST o TISTeTe | g am?

(a) Shakya/ <TTer

(b) Kshatriya/ ZIED)

(c) Lichchavi dynasty/ or=gdT 39

(d) Satavahana/ ATdaTg

Buddha belonged to which dynasty?

TG T F9T | FFafeaa o 2

(a) Shatrika,/ Tt (b) Maurya/ ®1
(c) possible/ <197 (d) Kuru/ &

What was the name of Mahavira before attaining
knowledge?

T AT | TF HTATL &1 ATH 47T 2T ?
(a) Barddhaman/ EE-tIn]

(b) Anshuman/ 3T9\[H’l7f

(c) Sudhakar/ g&THT

(d) Somdutt/ TTHET

to Swami

. Who among the following saints was from Maharashtra?

T 7 & 17 E AEEIE A A 7

57.

58.

59.

60.

61.

62,

63.

64.

(a) diameter/ =ATH

(c) Tukaram/ TeRTH
Alwars of South India were?
ZFETOT TR o AT o ?
(a) warrior/ RIE-\J

(b) Artisans of sculptures/ Eﬁ?ﬂ' F foreTsTe

(c) Saint/ &=

(d) Merchant/ AT

Which of the following is incorrectly matched?
ReferfeT & & e e Tea 2 2

(a) Namdev - Maharashtra/ LIGECE Hg

(b) Chaitanya - Bengal/ JqT - A

(c) Narsingh Mehta - Gujarat/ FIT%E ﬁ%‘d’r - [STaq
(d) Ballabhacharya - Gujarat/ IeTHTH T - [STd
Which Sikh Guru was born in Patna Sahib?

Rt & e % 1 ST g arigd § ga o 2
(a) Guru Nanak Dev/ 2T ECH

(b) Guru Arjun Dev/ % 31@7!' T

(c) Guruteg Bahadur/ ‘I@"T ERIESS

(d) Guru Gobind Singh/ % Tifa=z &g

Who among the following declared the Guru Granth
Sahib as a holy scripture of Sikhism and the status of
permanent Guru of the Sikhs?

FRaforfe & & fraq 1= o= a1iea &7 B o8 w1 0%
afe = I 3 [t o AT % w1 a0 A AT 2
(a) Guru Arjun Dev/ & 3ﬁi‘rf EC)

(b) Guru Tegh Bahadur/ = GRS ERIESS

(c) Guru Gobind Singh/ & Mfave ﬁg

(d) Guru Nanak Dev/ & AT EC)

During whose reign was the Sikh Guru Arjun Dev?
o % ao{aa e areeeaT | 97

(a) Humayun/ @'H'P?:( (b) Akbar/ 3Tha¥

(c) Shah Jahan/ 9&sT@l  (d) Jahangir/ STERfIT
Who founded the Khalsa?

GTET T TATOAT forae it ot 2

(a) Guru Gobind Singh/ % LUNER ﬁ%

(b) Guru Ramdas/ & TTHTH

(c) Guru Nanak Dev/ & AT EC)

(d) Guru Arjun Dev/ & 3]@7[ e

Who is considered to be the author of Raga Miyan Ki
Malhar?

TIRT TRt T Aeg e T TA AT (el /AT STaT & 2
(a) Tansen/ SIGEE

(b) Baiju Bawda/ ai[éﬂil@T

(¢) Amir Khusro/ 3Hi¥ qa‘fr

(d) Swami Haridas/ TATHT gﬁ?rer

Who was the mother of Mahavira?

HETE T T A/TAT i of 2

(a) Yashoda/ TeTTaT

(b) Trishala/ Frerrer

(b) Tyagaraja/ THTITXIST
(d) Maitreyi/ &3t

—
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42.

43.

(b) Famous Hindustani vocals/ gferg %%Fﬂ?ﬁ S TN
(c) Popular Tamil actress/ AR qiaer srfsre=i

(d) Theatre's famous personality/ e it afog E'Fﬁ
The oldest gharana of Hindustani music is

fergram TR0 7 qa| [T 93T 8

(a) Gwalior Gharana/ LENERESCRATHE

(b) Agra Gharana/ 3T ®IXTAT

(c) Lucknow Gharana/ 1@« 3 |41

(d) Jaipur Gharana/ ST =XTAT

The Gharana of Hindustani Music is not?

TergeaTeT |30 7 =T A1 82

44.

(a) Lucknow Gharana/ T@3 &X1AT

(b) Grocery Gharana/ T =T

(c) Gwalior Gharana/ IENERERCRATT

(d) Agra Gharana/ STTXT =0T

Which gharana is famous for Dhrupad singing?
¢[T% T & o0 T =T 87

(a) Mewati Gharana/ AT =T

(b) Gwalior Gharana/ T FXET

(c) Jaipur Gharana/ ST =LAT

(d) Grocery Gharana/ Rt =T

1l ECONOMICS 11l
ST AT S i TATIAT Fd gs A1? (a) 2w 2006 (b) 6 FTALT 2006
Whig;\fs Punjab National Bank established? (c) 2 FZa% 2008 (d) All of the above
a
Eb% 1888 7. What is meant by Mixed Economy?
(c) 1896 Tt sreraedT (Mixed Economy) & T ST €7
(d) 1886 (a) Coexistence of both agriculture and industry in the

Who is called the father of modern economics?

e AT FT T T Fgl 1T 872

(a) Adam Smith./ TEH &,

(b) John Maynard Keynes/ STie #9TE e

(c) Amartya Sen/ 39 |

(d) Malthus/ ATegq

In a closed economy-

U F7 AATTT (Closed Economy) H-

(a) Money supply is completely controlled./ F&TIft
e Frifr 2t 21

(b) There is deficit financing./ =ITe #¥ fa =raeaT It &

(c) Only exports take place./ Fa fF=1Ta grar 1

(d) Neither export nor import takes place/ T aT fa=fa, 7
EIEIRIEE L]

Who said that economics is the science of money?

FoTe o & 9 g, 78 T w87

(a) Robbins/ Trfa=

(b) J.S. mill/ S.uH. A=

() Adam Smith/ T=¥ fEqer

(d) Keynes/ #r=

The main feature of capitalist economy is

ISTATET STieqaeaT i1 qeT T §

(a) administered price/ TerTfEra T

(b) Public ownership/ STaSIA® T

(c) Economic planning/ ST strarsr=

(d) private ownership/ fAsft =rfacs

When was the National Rural Employment Guarantee
Scheme started?

TTETT YTHTOT TSI LT ST Fd T gs ofi?

10.

11.

economy,/ IF=FEAT | TFQ T IAET AT FT
GRS

(b) Coexistence of government and private sector/
TLHTE UF Al & F7 ggatead

(c) Coexistence of rich and poor/ sIHIT TH T =T
LEE I

(d) co-existence of small and big industries/ FTe 3T T8
IR T gEAfeqed

National income means-

TSI AT (National Income) T 37+ -

(a) Goods and services produced in a country./ Tt Fer
H IeqTed awqu U HaTd|

(b) Goods and services produced in a financial year./
Foreft ot a & Searfed a&qu g §art |

(c) Final goods and services produced in a country./
et Tor # IeaTiea stfeqw aequ e |aT |

(d) none of the above./ STIF & & FIE gl |

When was VAT implemented in India?

AT | 9 Fd § AR gAT?
(a) 1315 2005 (b) 7 &< 2005
(c) 2319 2007 (d) 93191 2006

By whom is national income calculated in India?

AT § TG AT sl TUET ook 51T 7 STt 22

(a) NITI Aayog/ ifd T gTeT

(b) by the Finance Commission/ fa= smamr grer

(c) Reserve Bank of India/ s &= it Sfear g1

(d) by the Central Statistics Office/ Fwata wifeahr
EIRIER -

Net Domestic Product (NDP) is derived from

[ WY IATE (NDP) 9TH T STTaT 8
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12.

13.

14.

15.

16.

17.

By adding depreciation to GDP./d&d =¥ 3caTg |
T gTH ST

Gross  National = Product after deducting
depreciation./ e T I<ATE H ToF ZTH T |
(c) Gross Domestic Product after deducting
depreciation./ FH AT IATE § o7 ZTH HETHT |
By adding depreciation to the Gross National

Product./ T T I7TE | T ZTE ATSHT

When was NABARD established?

ATETE HY FATIET 7 g A7

(a) 1982

(b) 1984

(c) 1885

(d) 1886

The base year used to measure national income in India
1S-

qd ® TEF 3T AT /O o forw e e S oA
ATYTE a9 2-

(a) Year 2000-01/ 3 2000-01

(b) Year 2001-02/ &% 2001-02

(c) Year2011-12/a% 2011-12

(d) Year 2005-07/ & 2005-07

One of the major problems arising in the calculation of
national income of India is

AT & TS AT AT TOET | 3T A ATAT U THE
qTHET

(a) Under-employment/ 3e9- TSITT

(b) Inflatio/ TETERITT

(c) Unorganized sector/ FETST &

(d) none of the above/ 3‘3@?5 BNy H%lr

Who estimated the national income for the first time in
India?

T § TATAT TEIT AT FT 3herT v AT &M

(a) Dadabhai Naoroji/ T&T ATE FILISIT o

(b) R.C.Dutt/ T, | &

(c) V.K.RV Rao has/ &t.%. smedt. oa 9

(d) D.R.Gadgil/ 2. sre. ITefier &

Which is the most literate state in India?

ATLT T FATTer% ATALAT ATAT 57 872

(a) 7T (b) Fie

(c) ghTom (d) WS

Which of the following is/are not included in the concept

of gross domestic product under the domestic boundary?

A T ICATE 0l ATLTIUT | T HIHT o el (e |

H I |/ & A Tl a-

1. Temples of Indian culture located abroad; fa=ert &
o ATt Segta & Afeax

2. Area of border dispute between two or more
countries/ &1 T &I | ST 3977 o Hex HAT foama &t
K]
Maritime border/ |TH & HHT

(a)
(b)

(d)

18.

19.

20.

21.

22,

23.

4. Embassies or military bases located abroad./ fazsrt
# fourq gamam® ar 4 og |

(a) 1and 2 only (b) 2 and 3 only

(c) 1,2 and4 only (d) All of the above

When was Export Import Bank of India established?

TS THITE 9 Sl SIAT &l ST F g3 off?
(a) 1S=a<r 1982 (b) 7 Sa<t 1983
(c) 9 S=a<r 1982 (d) 159t 1981

Along with the increase in national income, what is the
effect on the economy?

LT 3 | gl F ATT-A7 AATFEAT 9T F97 THET 2T

?a) The fraction of primary sector goes on increasing./
TR &5 T 39T T=dT 7T 2

(b) the fraction of the second region goes on decreasing/
ffier &1 =7 ster &+ EraT STAT )

(c) The share of service sector goes on increasing./ HaT
& T 39T TEAT SATaT &

(d) The share of service sector goes on decreasing./ 4T

& T 3797 FH EIAT ST gl

The value of all the goods and services produced in the
domestic territory of a country during the accounting
year is called-

G qT F I TR T97 & o & H Scarad a9t

FETA 3T HATSAT T Lo Fgl ST &-

(a) (GNI) / GNI Sfrueeme

(b) Gross Domestic Product (GDP)/ Hehel <] Icdla
(GDP)

(c) NNP/ uaua{t (NNP)

(d) Gross National Product (GNP)/ #@&dl TEIA 3IcUTE
(GNP)

The term GDP Deflator is a ratio between which of the

following?

e HYe 3cITE [eFete? (GDP Deflator) 9152 =% # & foherh

T U ST 8-

(a) Nominal GDP and Real GDP/ wifAwer Sy
(Nominal GDP) 3T aTeafas STSrdr

(b) Nominal GDP and price level/ F1TH=a SO 377 o
ESSES

(c) Real GDP and Deflation/ aTeafae: SHEIHT i< sTqehifa

(d) Nominal GDP and Inflation/ Fifaer SAETf siw

LI
How is the Indian economy?
AT ATTTaET Fell g 2
(a) capitalist economy/ E{Tvﬁa'lff EREDEL2H
(b) communist economy/ TTFIATT THFTFTEAT
(c) free economy/ TAAT TTTTFEAT
(d) Mixed economy/ fafra srefamaear

What is meant by mixed economy?
Tt srefarareaT & Fr srfam g 2

(a) Promoting both agriculture and industry in the

economy/ FdergedT § FY T ITURT T AT q@7am
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(b) coexistence of public and private sector/ T¥EFET T
EEICEEIREE ]

(c) Coexistence of rich and poor/ 3T U& T &
LRSI

(d) coexistence of small and large scale industries/ e

ST 2 UM & qgaAtead
24. The most appropriate method of measuring national
income is-
TIET ST ATA AT Fa9 3T AT g-
(a) GDP at market price/ #&eT T IcATE TSI FHT T
(b) Gross National Product at factor cost/ @&el TTEIA
JATR, FRILH AT T
(c) Net National Product at factor cost/ 9= LT IR,
HTTh AT 9T
(d) Netdomestic productat market price/ & Fﬁﬂ%‘@l‘l’q’
TS HAT T
25. How does India count from the point of view of economic
development?
AT ForerTer 36 3T & e i Rt a2 2
(a) As a backward nation/ U8z g F =7 &
(b) As a developed nation/ far=fEra 7T & =7 &
(c) As a developing nation/ fa=efter TTg =7 &
(d) As a semi-developed nation/ ¥ZAHET Y F T |
26. Who does the work of collecting data related to capital
formation in India?
AT | IS (9977 (Capital Formation) @aeft sifshe wahtara
FEA T FTH I HLAT 82
(a) Reserve Bank of India and Central Statistics Office/
AT RS 99 oY Fea i qiteg=it Fraiad
(b) Reserve Bank of India and State Bank of India/
AT ST 99 ST A 1 2 9%
(c) Reserve Bank of India and all commercial banks/
AT ST d9 iz a0 arforsa® a9
(d) Central Statistical Organization and National Sample
Survey/ Fexl AT TS T TTEMT THAT THAT
27. Which one of the following is an indicator of economic
growth?
9 & & F19 |71 uF otiF 6yt w1 ah=as 82
(a) Increase in national income at constant prices over a
given period./ Afara smafyr & Rux fimal w g
a7 7 g
(b) Corrective increase in real per capita income./
FrEqtas T 2AE A § GRS g |
(c) Increase in national income at current prices over a
given period./ Tt e smafey & =g Fimar
RERERE IR
(d) Increase in national income with increase in

population./ SFEEAT & g F AT TE oA H I |

28. Which sector of the Indian economy contributes the most
to the Gross National Product?

TTEATT AFTTAEAT FT HI AT & ThA T8I IATE A a9
Ter TR 22
(a) Primary sector/ ST=rf¥e &1

(b) secondary sector/ fZfa= &=

(c) Tertiary Sector/ T &=
(d) Public sector /ATaSI{=F &=

29. Economic development is usually coupled with-
Artye fasre AT AT IR grar -
(a) with deflation/ srEefifa & =Ter
(b) With inflation/ T & =721
(c) with stagflation/ TEITTrITT F AT
(d) with hyperinflation/ stfaefifa & =er
30. Economic Survey of India is published by which
organization every year?

AT T SAF TAEAT, TAF qY (6 FEAT o FIT T

[ERIRSICIRCY

(a) By Reserve Bank of India/ e f=re & grar

(b) By the Planning Commission of India/ ATE T3 FTSTAT
EIRINI-{R]

(c) Ministry of Finance, Government of India/ 9TZq
LA 3 o /e g0

(d) Ministry of Industry, Government of India/ ¥TXd
LT 6 FANT HATAT FTT

31. Highest contribution in Indian income is -
ATEATT T § A2 TRIET ¢ -

(a) agriculture sector/ ﬁ & AT

(b) Manufacturing sector/ fafawior &= =1

(c) business sector/ ATITL & FT

(d) Banking Sector/ STt &= =1

32. If economic development is envisaged in principle, which
of the following is not generally included?
Fgifas &9 7 =t st @ it seaar it St 8, 97 3785
TR FTETOTd: T Fal AT STTaT 82
(@) Increase in GDP/ &<t ‘ﬁ'ﬁ IITE 7 g
(b) Increase in financial assistance from the World

Bank/ 3 5= & fa<it= @graar # g5

(c) Increase in Gross National Product/ Feet T8 37T

(d) Increase in per capita gross national product/ i

={<F Tl TTET 3T § Flog

33. Which of the following is not a feature of the Indian
economy?

forfera & & it a1 G TeaaeT T A0 7851 82
(a) Low efficiency of labor/ 1% it g FTFEAHAT

(b) low per capita income/ ¥ =rf<F 7o s

(c) Low rate of capital formation/ ‘iﬁﬁ [GRIMEED] g X
(d) lack of natural resources/ ‘SI'ITﬁ?F TATEAT AT FHT

34. The most appropriate standard to measure the economic
growth of a country is
et Zor #T af" §915 (Economic Growth) T ATIA T
TTH I AIAF g T <97 Fl-
(a) Gross Domestic Product (GDP)/ #ehel < 3Icql<
(GDP)
(b) NetDomestic Product (NDP)/ fAae =¥ 3718 (NDP)
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35.

36.

37.

38.

39.

40.

41.

(c) Net National Product (NNP)/ ffa=r @gi@r 3cure
(NNP)

(d) Per Capita Income (PCI)/ Sfa=af= 3= (PCI)

Which is the main source of national income of India?

AT T T AT FT & &q g ?

(a) agriculture sector/ T\% & T

(b) Service Sector/ &aT &

(c) Industry Sector/ =T &

(d) Business Sector/ sT9TY &3

Human Development Report is published by which of the
following organization?

AT T R, Mefertaa § & o e gy T

BRIy

(a) (UNESCO) / T#=#T  (b) (WORLD BANK)/ fox d

(c) (UNDP)/ Z.ua.Stdt  (d) (IMF)/ STE.UH.TF.

Economic planning is a subject of-

arteis =S (Economic Planning) T# faw g-

(a) Concurrent list/ TaadT Fljﬁ )

(b) in the State List/ 157 =T &

(c) Union list/ &% 9=t &

(d) none of the above/ ST4H & & FIS Al

The Seventh Five Year Plan ended in March 1990, when

did the Eighth Five Year Plan begin?

ATl d=adTT IISET |71, 1990 § "9 g2 off, s’edt

THATTT ATSTAT Fd AEA §57?

(a) April, 1990/ 318, 1990

(b) January, 1991/ S=a<T, 1991

(c) September, 1991/ f&da¥, 1991

(d) April, 1992/ 3191, 1992

Investment rate in the tenth five-year plan-

AT d=ad T AreET | AT 3% (Investment Rate)-

(a) was less than the savings rate./ 999 &% & ¥ |

(b) was greater than the savings
rate/ =9I 2% 7 Aferw off

(c) was equal to the savings rate./ F9d 3 & FLra¥ 2|

(d) was less than the expectations. / SeaT9rTst & %9 =)

What was the main slogan of the Seventh Five Year Plan?

Il T JISTAT T THE AT FT q7?

(a) Food, work and productivity./ WIS, ®MH 3T
JcATEhdT |

(b) Free education for all children./ & agi & o
997 faream |

(c) Check percentage growth rate of national income./
RERE DENSIERIRUGE Sl

(d) Community Development Programme./ HTEL?I'@?F

|

What was the title (main objective) of the Eleventh Five
Year Plan?

LAl dEAdTT ATSHAT &7 9T ([T IL9T) F47 917

(a) Human Resource Development/ AT HHTe faraTe

(b) Growth with social justice and equality/ \THTIST®
T U FHIAAT % A1 gl

42.

43.

44,

45.

46.

47.

(c) Human welfare/ AT FITT
(d) towards faster and more inclusive growth/ Stard¥ Ua
srfer TaTasft gt f e

Who among the following is the chairman of the National
Development Council?

fAeferfera @ & wrga o 9w (National Development

Council) FT &7 FI7 2T 8-

(a) Prime Minister of India/ WT¥d FT T&TAHAT

(b) Finance Minister of the Government of India/ \TZd
TqEHTT HT & #AT

(c) President of India/ \TZd & Trgafa

(d) Vice President of India/ \TZd T SY-TTgq

In which Five Year Plan was the goal of sustainable
development first adopted in India?

AT § IO T # AE gavaw R d=adi
ST | AIATAT TAT?

(a) In the third five year plan/ e G=@dis ST &
(b) In the fourth five year plan/ Iqa =adia =T H
(c) In the fifth five year plan/ Ti=et d=adiar Jrs=T &
(d) In the Sixth Five Year Plan/ ®&T d=atia FreeT &

During the Tenth Five Year Plan the rate of growth was
maximum in-

AT TS FTSHT & I Hgfeg a2 Afaaha of-

(a) Pulses and oilseeds/ &g UF faegd &

(b) In fruits and vegetables/ e U& Hissral &

(c) Cereals/ ATl ®

(d) in other crops/ 37 ®&l &

Which sector's contribution has decreased in the national
income during the planning period?

ISR | LT AT H e &3 7 T7eT Jer 8 2
(a) Agriculture/ T

(b) Manufacturing/ fafamtor

(c) Transportation/ Tag"

(d) Banking/ St

(d) about half as likely./ FFATAAT & AT AT €2 |

Fafafea & 4 e d=adts JeET § a9 &Ee w i aw
TorhTer YATET FT QI ad /AT AT B-

In which of the following Five Year Plans, human
development has been considered as the essence of all
development efforts?

(a) ey d=atT FSET / Third five year plan

(b) Tf=dT d=adiT FrsT, / Fifth five year plan,

(c) =&Y d=adiF T / Sixth Five Year Plan

(d) et d=astT T/ Eighth Five Year Plan

In which of the following Five Year Plan more emphasis
was laid on self-reliance?

e # 7 5 d=edT FeET § srenfaswar o2 stes aa
ERIR eI
(a) Second five year plan/ T3 d==dTr Trs=T
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(a) Income Tax/ AT FT (b) wealth tax/ FIfRT FT
(c) Gifttax/ ST HX  (d) sales tax/ fa&T ¥
143. Which of the following tax was levied by the state
government?
95 & & FI 97 2 75T LR FIT AT S7av 977
(a) Entertainment tax/ HFIEST FT
(b) wealth tax/ F¥IaT FX
(c) Income tax/ 3T FT
(d) Corporation tax/ f9Te ¥
144. Under what circumstances would a tax be called
regressive?
et & a7 o fRurfa o 9faeTreT (Regressive) FgT STTUamm?
(a) Its burden falls equally on both the rich and the
poor./ THEEHT AL FAHIIT T TLAT IAT 9T AT TE4dT gl
(b) Less burden on the poor than on the rich./ 3Tt it
TAAT H T 9T FH AT |
(c) More burden on the poor than on the rich./ =1 #it
TAAT H T4l 97 A A
(d) none of these/ TAH & #TE A&l
145. In case of direct tax, taxation and taxation take place-
TeaeT T AT FRATq & FIITT S FHTAT Brav 8-
(a) ontwo different persons/ &t fafe= =rfxrai ux
(b) on the same person/ T &I =<k 9%
(c) on another person/ TAY ¥ FAF TT
(d) the department that collects the tax/ 39 sy 9T 5
FLAAT S

146. Who is the chairman of 45th Finance Commission?

159 T3 ST 7 7T Fid 27
(a) Manmohan Singh/ #=HTE &g

(b) Vasant Seth/ €@ a5
(c) Shiv Shankar/ forar eisv

(d) N.Of. Lion/ U. %. &g
147. Where was VAT first implemented?
I IFAT AT Fgl AN T TAT?
(a) German/ ST¥+T (b) Spain/ T=
(c) France/ %i® (d) Russia/ &9
148. Which body decides what is the state's share of the union
tax?

g a1 e 77 Matia wwar g &, 99 % #2 & e &

e e T FT B

(a) Finance Commission,/ 3= smamT

(b) Policy Commission/ =fer ST

(c) Election Commission/ JHTa ST

(d) Ministry of Finance/ fa=r et
149. What is the nature of indirect tax?

AT T AT TF( FET ZaT 82

(a) Downward/ STeRTTHT

(b) regressive/ TfarHt

(c) progressive/ FTfaefter

(d) proportional/ ﬂﬁcﬂﬁ?ﬁ

150. Vijay Kelkar Committee report is related to

T e FHT it fe qeataa g

(a) trade reforms/ TITT LT &

(b) Financial relations between the union and the states/
T 3T Tt o wer i gt 7

(c) Disinvestment of Public Sector Undertakings/
HTAST & 6 ITHAT H7 (A9

(d) taxreforms/ ¥ ﬁﬂTﬁ T

I

POLITY

1]

1. Who was given the residuary powers in the union
established By the 1935 Act?

1935 * srfarf=as gy woriud &= # srafore afweat e
¥ T of1?

(a) Union Legislature/ &= faemrarfersr =t

(b) Provincial Legislature/ YTe1= fagmaavee it

(c) Governor General/ STaHY L T

(d) Provincial Governors,/ ST Ta=<} I

2. By which act has the power to issue ordinances been
given to the President?

TPt T ALATIN T F4 v orf=w B srfarfaay & g

= AT 7

(a) Government of India Act,
srterfaae, 1919

(b) Government of India Act,

afafaaw, 1935

1919/ 9T ALEHT

1935/ 9™A HIHT

(c) Indian Council Act, 1909/ WTET afiug srferfaa,
1909

(d) Indian Independence Act, 1947/ WA TG
arferfe=m, 1947

3. Who s the interpreter and guardian of the constitution?
TG F SATEATHRIT AT LT FIF § ?
(a) Presidential Parliament/ Trg9fa #9a
(b) Advocate General of India/ AT T HRTIAETHT
(c) Supreme Court/ HaTg ~ATATAT
(d) none of these /378 & FIS Aal

4. Who presented the Preamble of the Constitution before
the Constituent Assembly?

TTAeTT TAT o qHeT AT 6T TeATaT hee Toqd hi?

(a) Jawaharlal Nehru/ STETEY AT 8%
(b) Dr.B.R. Ambedkar/ St JFEHT AT .

(c) B.N.Rao/ 713 .UA.
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(d) Mahatma Gandhi/ WgTcHT Tieht

5. In which year Jana Gana Mana was adopted as the
National Anthem of India?

3 a9 § ST 07 99 T AT F TP F w7 F =T
TAT?

(a) inthe year 1948/ a9 1948 |

(b) in the year 1949/ a9 1949 |

(c) inthe year 1950/ a9 1950 &

(d) inthe year 1951/ a9 1951 ®

6. Who among the following was the chairman of the Union
Constitution Committee?

Fefortea & & o dfegrT afafa #71 stexer F19 =12

(a) Dr.B.R. Ambedkar/ Ef Fes¥ .37 4T .

(b) Acharya J.B. Kriplani/ 3= & TQT'I'IT-FF .

(c) Jawaharlal Nehru/ STEATETATT Ag&

(d) Alladi Krishnaswami Iyer/ 3eTal FEUTEATHT ST

7. By which name/names has our nation been mentioned in
the constitution?

T § U WY FT oot et o/F ar/ o sram
7
(a) Bharatand India/ 9T%a q2T 2247
(b) India only/ Fa ATLT
(c) Hindustan and India/ fEgEar @ar =T
(d) Bharat, Hindustan and India/ WTd, %@?—‘W—f qAaT
e
8. Who called Indian federalism as cooperative federalism?
AT THATE T TEFTET TeaTs hae gl om?
(a) G.Austin/ Sft sfifea .
(b) K.C.Here/ % #¥ <.
(c) Sir Ivor Jennings/ H¥ AT STATE
(d) D.D.Basu/ ¥ta¥ ..

9. Which of the following words was not included in the
Preamble of the Indian Constitution in 1975?

fAeferferd orsi & & &9 |7 o753 99 1975 & A7 dfaemT
FT TEATaAT § greaferd dgi Aq1?
(a) Fraternity/ S¢gca (b) Sovereignty/ HIHAT
(c) Equality/ SHTAdT (d) integrity/ sr@=dr
10. According to the first article of the constitution, India is-
HIAETT & TIH Aq=82 & ATATL, WA & -
(a) Group of states/ TTSAT &T 95
(b) Cluster of States/ ITsa1 FT HFA
(c) Federation of States/ TTSAT &T TET
(d) Union of States/ TTSdT T F=

11. Which two persons played an important role in the
merger of the princely states of India?

qTea & 3oft Ramaat & e & f a7 srftrat F wgaaot

qffT fFare «f?

(a) Sardar Patel and Jawaharlal Nehru/ 9%&T¥ 9e< 9T
TATELATA A&

(b) Sardar Patel and V.P. Menon/ ®¥=TT qe a7 oY 4.
AT

(c) Sardar Patel and Dr. Rajendra Prasad/ #%&TT et
TAT T Tol75 TE1R .

(d) Sardar Patel and K.M. Accountant/ T¥&¥ & qT
FHfT T,

12. By which constitutional amendment Delhi has been given
the status of National Capital Territory?

e wfaeam Forree g et &1 g ST 85w
EEIRECRERIRIRIEY
(a) 67t/67at (b) 69th/69at
(c) 68t /68at (d) 70t/70=t
13. When was the state of Chhattisgarh established?
TITETE ST T TTIAT Fd g57
(a) On 1st November, 2000/1 F54T, 2000 &7
(b) on 9th November, 2000/9 7&4T, 2000 T
(c) 1st November, 2001/1 F54¥, 2001 T
(d) On 15th November, 2000/15 F&4%, 2000 T
13. Who is the main authority to interpret the Indian
Constitution?
AT AT ohT SATEAT FlA AT T ATH I 5 ?
(a) Speaker of the Lok Sabha /@ TaraTeaer
(b) Supreme Court/ qaTg =ATATAT
(c) Attorney General/ TeiHT STt

(d) President/ Trgafa

14. Identify the correct chronological order of formation of
the following states in India from the code given below :

qRa # Fefoteaa wsat [ & a@ Fwrerged o
T A {30 7T %z & A

1. Andhra Pradesh/ et w3er

2. Himachal Prades /f@T=e T3er

3. Haryana/ gf=mom

4. Sikkim/ farfaa

%< :/ Code:

(a) 1,2,3,4 (b) 1,3,2,4
(©) 4,3,1,2 (d) 3,4,1,2

15. Under which of the following was the first Supreme Court
established in India?

forfaa § & freh ofasta W § 94wy g49ig = i
TITIAT g5 ?

(a) Regulating Act- 1773/ 3R[atew sfafaas- 1773

(b) Constitution of India - 1950/ ATLH T &AL - 1950

(c) Government of India Act - 1935/ ATXT HLEHIT ATATHIH -
1935

(d) Charter Act - 1853/ =Te< srfarfa=w - 1853

16. Indian constitution provides which of the following
citizenship?
are i gfaem 7 & & #3190 = anrfear JeT Far g2
(a) Dual citizenship/ FTg<T ARTHAT
(b) Single citizenship/ Taer ARTIRAT
(c) both of the above/ ST a1
(d) none of the above/ ITTH & & FIs Aol
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17.

18.

19.

20.

21.

22.

23.

24.

The Indian Constitution provides citizenship to-

AT G ARTREAT Y& AT g -

(a) On the basis of birth/ ST¥/q & LT TT

(b) On the basis of residence/ f7=Ta % 3em™ 7%

(c) On the basis of naturalization/ ZftZ=<or % 3TeMT I
(d) on the basis of all the above/ 'o"cl'i?ﬁ Tft o e 9

In which country the principle of dual citizenship has
been accepted?

o 3or § Frgdt AnTeenar &7 fAgia w827
(a) India/ w\TEd

(b) Canada/ &ATST

(c) Australia/ sfresferT

(d) United States of America/ H3<h TTsT FHTYHT

In which of the following situation, N citizenship of an
Indian citizen can be terminated?

e 7 & e feurfa @ Rt Wi ATt &, N areanar
THTH B Tl 57

(a) on abandonment/ TN F¥T 9T

(b) on migration/ TATEET 9T

(c) Onbeing deprived,/ Ff=a T sTv 9%

(d) all of the above/ SUZI<F THT &

Originally in the Constitution, how many judges were

there in addition to the Chief Justice in the Supreme
Court?

a0 &9 | |@fag= § q4rg A § e AT

arfaten fora =mamefver &t sgarea off 2
(@) 6 (b) 7
(©)9 (d) 15

In which part of the Indian Constitution are the
fundamental rights of the citizens mentioned?

AT HAGT F B R0 | AR & "I STiaswi i1
SeorE BT I 27

(a) Part-1V/ |TT-1V (b) Part-V/ 9TT -V

(c) Part-1I/ |w0T-11 (d) Part-III/ ATT-111

Who has the power to increase the number of judges of
the Supreme Court?

IFAT =TT & FrATeftent A deAr § gy A i afw
e a2

(a) Prime Minister/S&Tas=T

(b) Ministry of Law/ fafer #=amers

(c) President/ Trgafa

(d) Parliament/ €93

In which of the following articles the right to equality is
provided?

FRaferfaa @ & e sf=es § q9ar & At F1 aeme
7

(a) Article-14/ sIg=23-14 (b) Article-19/ S T=83-19
(c) Article-20/ sIg=23-20 (d) Article-21/ ST=33-2
Which article of the Indian Constitution abolishes
untouchability?

AT |GG T AT 97 A =08 TeqeTaT F IFAA-
FAT &7

25.

26.

27.

28.

29.

30.

31.

(a) Article-14/ sI9=e3-14 (b) Article-15/ SI{=g-15

(c) Article-16/ sIT=33-16 (d) Article-17/ Sq==-17

Which of the following pair is not correctly matched?

5 & &1 |7 T/ AT T8 8-?

(a) Article 14/ 14 Equality before law /fafer
& qHeT FAAT
Equality of opportunity
/AFET FY THEAT

: Abolition of titles /ITTieraT
ELE G

: Permission of military
titles /&= IuTier=T i
ERCIn

Which of the following is not a fundamental right
provided By the Indian Constitution?

Feferfaa & & #i a7 sfeer wrdT dfegm g ¥=9-
T e e T 27

(a) Right to equality/ AT & ATFHTT

(b) Right to Freedom/ Taa=rdT &T STfereHTT

(c) Right to property/ 9T FT STEFHTT

(d) Right against exploitation/ 9T % =g srfarawme

In which right is the freedom of the press vested?

S T FFAAAT o AT § [ET § 2

(a) Equal Protection of Laws,/ A&t =T 1= H¥eqor

(b) Freedom of speech/ STeror st Tac=raT

(c) Freedom to form association/ &= s=TH T TqE=T
(d) Safety of work and material/ FT3 3T HTERIT it FeAT

Article-19 of the Indian Constitution provides-

HATLA T HAGTT T Aqoe52-19 T F2AT & -

(a) 6 types of freedoms,/6 1T FY TAAAATSN Fl

(b) 7 types of freedoms/7 ST Fit FAGAATSA T

(c) 8 types of freedom/8 ST T FAGAATSN I

(d) 9 types of freedom/9 T ¥ TaAAATSN Fl

An accused of an offense cannot be compelled to give

evidence against himself. Which article of the Indian
Constitution has this provision?

e STy o SITSh &l &% o9 faeg mare! o & fou
JTET qET AT ST THaT g1 ATA T Siea & g aq=ee |
PERIECIE Y

(a) Article-20 (3)/ #T=23-20 (3)

(b) Article-21/ sIg=s2-21

(c) Article-22/ SIT=a2-22

(d) Article-74/ SIq=28-74

According to the Indian Constitution, the right to life is a-
AT AT & SATHTL, A HT ATAFHT TF -

(a) is a political right./ TSI srfererme 2

(b) is an economic right./ Tf¥= srferame g

(c) is a fundamental right./ ®ifers e g

(d) Religious right./ & stfarme

Right of all children (children) of the age of 6 to 14 years
to education.

6 & 14 a9 & A & THT Tgi -0 FUeq7 7 srferpre (fereret)

(b) Article 16/ =37 16
(c) Article 17 /3T =% 17
(d) Article 18/3T == 18
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32.

33.

34.

35.

36.

37.

(a) Included in the Directive Principles of State Policy.
/3T % i e Rgr=at # afeatoa 21

(b) is afundamental right./ ¥ ATEFTT B

(c) is a statutory right./ |rifafearss srfererT 21

(d) none of the above/ IT3<F H & Fl BELl

Which article is directly related to employment of
children under fundamental rights?

A ATTFRT 6 Awqd HIT AT A8 ATAD] & (HIST &
ToTe T F TETAT 22

(a) Article-19/ ¥ =33-19

(b) Article-17/ s {=83-17

(c) Article-23/ Iq=e3-23

(d) Article-24/ sIq=e3-24

Freedom from compulsion to pay taxes for promotion of
any particular religion is guaranteed-

et o 39w % daa & forw -0 % qErar it srfaardan
& fer A e A T 2

(a) By Article-25/ sI{=&8-25 T

(b) By Article-26/ SI=38-26 T

(c) By Article-27/ sIq=38-27 IT

(d) By Article-28/ sT{==-28 1T

Fill in the blanks - Rights, Duties

= =1 T I FLATIHTL -, FAAT

(a) are interrupted./ T STIET FA B

(b) instruct./ T SATIFAT Fd &I

(c) are contained in/ ¥ fAf2a gl

(d) oppose/ T farer w2 2

Who appoints the Acting Chief Justice of India?

AT & FAaTe® qed Frarefter & Fgie #irg Fzar g ?

(a) Chief Justice of India with the prior approval of the
President/ TTgafd & 99 TFHd § R 1 T
EIRIPIE

(b) President/ Trgafa

(c) Chief Justice of India/ ST<d FT H&T ~TATElTT

(d) none of these /ZH & FIs Axl

Which of the following fundamental rights is not available
to foreign citizens?

Fefafea & & w9 a1 qo stee f@eeft anrtt & 9

Tl 2l

(a) Equality before law/ fafer & swer srwar

(b) Right to freedom of expression/ f¥=af<h it Fac=rar
FT AT

(c) Right to life and personal liberty/ ToT Ua Ifg®
TACAAT T ATTHT

(d) Right against exploitation/ ST & fa®g fawTe

In which article the provision has been made on the

protection of the interests of the minorities?

AETEEITI & T2l =l qraT 9 e st # wraene
TAT 872

(a) Article-14/ sIT=33-14 (b) Article-19/ s q=2=-19
(c) Article-29/ sIT=33-29 (d) Article-32/ T {=3-32

38.

39.

40.

41.

42.

43.

44.

In which year was the Bonded Labor Abolition Act passed
By the Parliament?

TS ASGL I arrertae gag 7 o ad aria o am?
(a) in1971/1971 & (b) in1976/1976 &

(c) in1979/1979 & (d) in1981/1981 &

In which year did the Mandal Commission submit its
report?

HEA SATINT gIT AT FdTe Fohe o sreqa o 1 2

(a) in1990/1990 & (b) in 1983/1983 H

(c) in1980/1980 & (d) in1977/1977 &

Under which article of the Constitution of India the

fundamental rights of the members of the armed forces
can be specifically restricted?

AT & g & F =g & siavd qere i & qaedi
o HITorh SATFT 0 (9T &7 | Tiatad R S Jhdr 87
(a) Article-21/ sI9=83-21 (b) Article-25/ ST =3-25
(c) Article-33/ sIg=23-33 (d) Article-19/ ST =83-19
Who among the following has been given the power to
protect fundamental rights By the constitution?
Ferferfera @ & freenr sferam gy /ifers sIfasht = q2eqm
FraRr T ?

(a) All the courts in India 9TEa % Y =TaTAT FT

(b) Parliament/ 5H& &t

(c) President/ Trgafa &7

(d) Supreme Court and High Courts/ SaTg ~ITaTaT T
IF FATATATT Tl

Who appoints the Chief Justice of the Supreme Court?

TG AT % qeF =Aranefter fr g w9 #ar g ?

(a) Prime Minister/ TeTa#=t

(b) Parliament/ 5§93

() President/ Trgafa

(d) Ministry of Law/ fafer #=mer

Which one of the following is true?

forfaa & & i |71 U o 82

(a) Nehru Report (1928) supported the inclusion of
Fundamental Rights in the Indian Constitution./
AT SAGTT § o ATTH 1 ATHSA F2A % 0
T [a1E )1928) 7 gwdw T =m

(b) The Government of India Act, 1935 gave patronage to
the Fundamental Rights./ 9T¥d #eaw srfafaaw,
1935 7 g AfIFT A7 w7 2w =

(c) The Fundamental Rights were included in the August
Resolution, 1940./ 3RTET 914, 1940 ] qa CID AL
EEREaU]

(d) The Cripps Mission, 1942 patronized the
Fundamental Rights./ fewr fiem, 1942 g
STERTLT T e = =m

Who appoints other judges of the Supreme Court?

AT ATAAT % T ~FraArefient i Fgis F:a #ar g ?

(a) President in consultation with the Chief Justice of the
Supreme Court/ HaTg ~ATATAT % e RIRIEIE T

qeTHey ¥ gt
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45.

46.

47.

48.

49.

50.

(b) Judge of the Supreme Court/ Harg ~ATATAT FHT
RIRIEIE
(c) Parliament/ €9

(d) President/ Trgafa

According to the Supreme Court, the hoisting of the
National Flag on private buildings is included under
which article of the Constitution?

I=AqH AT % AT, it W&t & Fa7 g eaw
(National Flag) #T Fg<T ®faem= & fFra siq=ae swaiia
aftafera T T 82

(a) Article-14/ sT==3-14

(b) Article-19 (1) (a)/ IT=3-19 (1) (F)

(c) Article-21/ ST=3-21

(d) Article-25/ STq=e3-25

In which article of the constitution the fundamental
duties are mentioned?

A FeIeAT &1 A0 e & o sq=as § 82

(a) Article-51/ I =e3-51

(b) Article-58/ T ==3-58

(c) Article-51 (a)/ T =8-51 (F)

(d) Article-24/ ST =3-24

Which article of the Indian Constitution lays down that

the Directive Principles of State Policy are not
enforceable By any court?

AT |IALTT & #1997 A= T (Aeiid Far g i,
57 % At e gt Bl =meres g anp gt o
ST HheT?

(a) Article-32/ sIT=83-32 (b) Article-40/ Jqoe=-40
(c) Article-37/ sIq=23-37 (d) Article-39/ 52339
Who said, the Directive Principles of State Policy are a
check that can be paid at convenience?

e Fgr o, g & Hify Fees g e 3% g e
HECIRGIESEEARE RIS T

(a) K.M.Munshi/ & qsft .uw .

(b) B.R.Ambedkar/ &T sTFe=aT .37 .

(c) K.T.Shah/ % errg &1 ./

(d) Dr.Rajendra Prasad/ =t Treivg Y91 .

In which state is the Uniform Civil Code applicable?
THTA AWTF "igar o =g § Ay 62

(a) Jammu and Kashmir/ W'cﬁ?iﬁT-

(b) Nagaland/ AT E

(c) Goa/ T

(d) Mizoram/ fAst=®

In which article of the Indian Constitution is there a
provision for equal justice and free legal aid?

A Fiaem & 59 sqees # qum =g ud fgew
farfers agrar #1 yagm 82

(a) Article-30/ sI{==8-30

(b) Article-39 (a)/ AT==-39 (F (

(c) Article-25/ sIT=33-25

(d) Article-33 (b)/ STT=83-33 (T (

51.

52.

53.

54,

55.

In which article of the Indian Constitution, the State has

been directed to form Gram Panchayats?

AT |fe™ & &9 aq=ae § 7T F I G=9E@al 5

T & e fogr 82

(a) Article-32/ sIq=e8-32

(b) Article- 40/ S5 -40

(c) Article- 48/ S5 -48

(d) Article-78/ Iq=23-78

In which part of the constitution the principle of

separation of judiciary from executive is mentioned?

FEIRT & AT F JIEHOT )Separation) T

T wferaT & B 9o § afig 82

(a) Introduction/ I&EqTaAT

(b) Fundamental Rights/ ®ifers srferame

(c) Directive Principles of State Policy/ s & HIfd
[RESER ]

(d) Seventh Schedule / |TAET AT

Hifa e Fgiat § #19 &71 g Trefarar H=memT

T AT A5l 82

Which one of the Directive Principles of Policy is not

based on Gandhian ideology?

(a) Organization of village panchayats/ IT9 9=l &1
ST

(b) Compulsory and free education for all children up to

the age of 14 years./ 14 a9 a% & @+t agi & forw
afar quT e e |

(c) Prohibition on consumption of all intoxicants except
for medicinal use./ sfiweftr TR F sfaf=s Tt
Fefret gt % HaT a2 afqsy

(d) To work for the development of the weaker and

backward classes./ FASE a7 U= a1t % f@wm &
form =t AT

Which one of the following Directive Principles is not
based on liberal ideology?

Feferfea Jifa Mo frgiat & w a1 g saant

IEEIRCIE R P R T

(a) Separation of Judiciary and Executive/ =ITaraTierat
TAT FTIATIOTRT T TAFHIOT

(b) To provide a uniform civil code for the =~ Whole
country./ THET 397  forw we gwT+ f&rfaer @fgar ysm=
HTATI

(c) Conservation of monuments of artistic and historical
importance./ FATHS TAT VIAGTF AEeT F THTLHI
T HTLOT FHTAT

(d) None of the above is incorrect./ SUZIE & & Fle TAd
Tl 2l

It shall be the duty of every citizen of India to protect and

improve the natural environment, this statement is

related to which article of the Indian Constitution?

ARG % TAF ANME H7 Tg Fasd gl 6 ag TFds
THTEALOT T HLA UF GTT Y, Tg HAT ATLATT FTALTT
T T =e & gvafaq 82

(a) Article-48(a)/ AT=33-48(F)
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195.

196.

197.

198.

(b) District Panchayat, Taluka Panchayat, Zonal
Panchayat/ ST 9=, dTeT G, = GHAT

(c) Gram Panchayat, Block or Panchayat Samiti, District
Council/ ITH 4TI, st AUET d=raq Fiufq, e
T

(d) Gram Sabha, Panchayat Samiti, Zilla Parishad/ 919
AT, T=TIT qAH T, ST 7w

A national political party is one which has obtained 6% of
the total valid votes in-

T SIS 3 g AT & S FeA I 7qAT A1 6% T
< forar 21 -

(a) intwo or more states/ &1 T faF Tr=aT §

(b) in three or more states/ = =T srferk T=a1 &

(c) in four or more states/ JT¥ AT STerH T=AT H

(d) in all states/ &Y Trst ®

Which of the following represents representative
government?

et & & w TatAter avwr F7 Jfseg=<h F:2ar 82

(a) Presidential form of government/ ¥HIHIT FTl
HETATCHS &

(b) Indirect democracy,/ TITeT ATHAT

(c) Direct democracy,/ el A=

(d) Democracy/ ATHa=

In which year the anti-defection law was passed By the
Parliament of India?

AT HT §92 g7 & aad A #1 foFm av # qria-
ERIRRIRIY

(a) 1984 (b) 1985

(c) 1986 (d) 1988

Which one of the following functions does not come
under the purview of the Election Commission?

199.

200.

Feforte § & 19 97 F1 [{at=e T F Frea § T2

AT 82

(a) To conduct the election of the Prime Minister of
India./ T F TLTAHAT HT AT FEATI

(b) To elect the President of India./ WTEd & TTFATT FT
FATT FEAT

(c) Granting recognition to political parties./ TTSHITd®
FAT T AT TS FHIAT |

(d) Fixing the election symbol of political parties./
TSI FAt T g1 foeg TS F7T |

Under which article the Election Commission has been

established?

FATE AN T ST=eE o Sfavia eATra fora 13T 87

(a) Article-356/ SI{=33-356

(b) Article-280/ I =3-280

(c) Article-324/ Iq=e=-324

(d) Article-249/ 53249

Which of the following is the incorrect statement-

et & & 9 799 ¢ -

(a) National Voters' Day is celebrated every year on 25

January./ @ a9 25 SFa<T F TS AIETAT @9

HATAT SATAT 2

In Article-325, the minimum age of the voter has

been fixed at 18 years./ aﬁ‘c{ -325 ¥ gaemar it

Aaw o 18 a9yt i € 1

A candidate can spend up to Rs 70 lakh in Lok Sabha

elections and Rs 28 lakh in assembly elections./ FTE

ITHIEATT ATHHAT AT | 70 AT 9 TAT Aem=a«r

I | 28 ATE #9d TH AT FT qhdT 2

(d) The Election Commission is a constitutional body./

[BELEGE PINRE K CPIEERTED RS

(b)

(c)

il

PHYSICS

Which alloy is used to make clock pendulums:

TET % Uge® I % fore 36 ey e &1 ST 3R Strar
&

(a) Mischmetal/ ffrertes

(b) Invar/ 3dTX

(c) Brass/ frae

(d) None of the Above/ SUTITH & & FIE Tal

When the red light is exposed on a yellow flower, it will

appear in color:
T I B I ATA TR SATATAT S, TN I T H
IEEIEEUIR

(a) Yellow / drar (b) Orange/ STHAT
(c) Black/ =Tetm (d) Red/ =Tt
Longitudinal waves can’t travel through:
Aaed T T ATEAH | ATAT A51 T Tl 3
(a) Solid / 31 a&q

(b) Vacuum/ aTR;(Fr

(c) Gas/ =

(d) None of These/ 3% & FI< gl

Rose appears red in sunlight, but the same Rose appears
in green light:

TS IS 30T L9 H ATA [G@TE 2T &, AT dal AT g7

TMH_ fRmEEwEare

(a) Red /=Tt (b) Black/ =tem

(c) Green/ T (d) Yellow/ fiem

The current flowing in one directioniscalled

T R A agA AT aT AT FRET AT E:

(a) Alternating Current/ STcaTad &Il

(b) Induced Current / I adwTA

(c) Direct Current/ STIFE Fie

(d) Ionic Current/ ST Fie

When detergent is added to water, the surface tension
will:
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10.

11.

12.

13.

14.

15.

st aret | fReste e srar €, a7 9qg T a9 g
(a) Increases / TEaT &

(b) Decreases/ I=aT &

(d) No Change/ &I T3 Al

(d) Become Zero/ S BT SIT310

What is the correct formula for Angular Momentum:
FIfT FaT % T =2t 9 F7 8

(a) L=rxp /T = a7 x °fY

(b) L=r.p/ U = st

() L=pxr/ T =1t x41¥

(d) L=p.r/ T = 9.3

What is the unit of measurement for the universal
gravitational constant:

AT oA R F ATa i1 2T 47 82

(a) Nm/Kg* (b) Nm*/Kg

(c) Nm?/Kg? (d) Nm?Kg?

Rockets work on the principle of:

Tiehe e THEid I¢ 19 F3d &

(a) Newton’s First Law / 7 &T qgaT fAa9

(b) Newton’s Second Law/ =&+ &1 o<1 7=+

(c) Newton’s Third Law/ == T dte<T fFae

(d) Archimedes Principle/ sfhfatsr forgia

Tesla is a unit of magnetic __ :

TEAT IR A U T B

(a) Flux / w0 (b) Induction/ ST
(c) Moment/ &7 (d) Field/ ez
Doppler’s effect is associated with:

T T9TT Fa 14T ¢

(a) Electric Current / ﬁaﬁ EEIR]

(b) Light/ Jahrer

(c) Heat/ &m@T

(d) Sound/ &=t

What is the unit of noise pollution:

AT T T THTS 4T &

(a) Decibel / SfFra (b) Decimal/ eTHeT

(c) ppm/ frefimar (d) Hertz/ &Zst
Temperatures in centigrade and Fahrenheit are the same
at:

HET 3T wARIEe | ITIHIE THE 21 &

(a) 32° (b) 40°

(c) -40° (d) -273°

Butter paper is an example of a object:

FEXUIY T F UF I €.

(a) Transparent / qreasft (b) Translucent/ qIEATHT
(c) Opaque/ sraTeaeft (d) Luminous/ 9HHaTX
Which of the following is not a part of the AC generator:
forfeaa & & T a7 uHT sHe #1 e T8 8

(a) Slip Rings / f&era fey

(b) Coil/ F==

(c) Commutator/ EI?D«;@F

16.

17.

18.

19.

20.

21.

22.

23.

(d) Galvanometer/ feasHiax

What is the measuring unit for the length of light waves:
TERTIT T 6T FATS ATI 6T THTS 47 2

(a) Barrel / 3% (b) Angstrom/ TRTEEIH

(c) Knot/ 75 (d) Carat/ F¥=

A magnifying glass comprises a simple:

T A i | TR AT AT ZraT

(a) Convex Lens / 3T oi¥

(b) Convex Mirror/ 3T g9

(c) Concave Lens/ SIadd oiq

(d) None of These/ TAH & FIs Aol

The intensity ratio of waves is 25:9. What is the ratio of
their amplitudes:

T T AT T STAATT 25:9 §1 I ATATH T SATATT F4T

&

(a) 5:3 (b) 3:5
(c) 25:9 (d) 50:18
Plank constant has the dimensions of:
wih FRAT & AT g

(a) Energy / &SI

(b) Linear Momentum/ Y& i

(c) Angular Momentum/ #FTofrg T

(d) Force/ at

1 CLS unit is equals to:

1 HTATH THRTE T 2

(a) 1.2 Times the Mass of the Sun / ?ff *F T & 1.2

AT
(b) 1.3 Times the Mass of the Sun/ ¥ % F=H1T & 1.3

AT
(c) 1.4 Times the Mass of the Sun/ ?ff *F FSIHTT #T 1.4

AT

(d) 1.6 Times the Mass of the Sun/ I & F=HH & 1.6
At

What is the complete form of RADAR:

T FT [0 & 47 &

(a) Radio Detecting and Ranging / Y= fRefaeT sfiw
¥

(b) Radio Device and Ranging/ X2t fearsw i IS

(c) Radio Detects and Range/ YT T IaT @ITdT & 3T
kS|

(d) Region Device and Ranging/ €= fRare# sz IRT

The rate of change in displacement over time is called

T F a7 Feama H iEda fr e wr_ FRISATAT 8
(a) Acceleration/ @9

(b) Speed/ T

(c) Velocity/ aT

(d) None of These/ T7H & FIs Aol

The ____ lens is thick at the middle and thin at the

edges:
9 S § HIeT i AT T T gt g
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24.

25.

26.

27.

28.

29.

30.

(a) Concave / Aadd

(b) Convex/ 3Tt

(c) Bifocal/ aTZHIFA

(d) None of These/ T7H & FIs Aot

Which of the following metals has the greatest thermal
and electrical conductivity:

Frafrf & & feg arg & wad a9 anfa sie fEa
FATARAT

(a) Silver / =TT

(b) Copper/ Fiu<

(c) Iron/ FTeT

(d) None of These/ TAH & FIs A5l

The Tyndall effect is due to:

oo woTa & FE0 graT

(a) Scattering of Light / STehTeT T Tehiote
(b) Dispersion of Light/ TeTeT &T HeTa
(c) Refraction of Light/ SeTeT T sTqad+
(d) Reflection of Light/ Serer =7 gfafear

Fulminology is the study of:

FATHATATSIT TRERT ST &

(a) Volcanic Eruptions / SaTaTHET fae®e
(b) Lightening/ farsteft

(c) Natural Gases/ IT&fa &

(d) Atmosphere/ ATqTaLIr

Which of the following statements is always true:
Fraferfera § & 19 97 w99 gHaT 97 2raT 2

(a) Displacement > Distance / fareama> g

(b) Displacement < Distance/ faeama= <gft

(c) Displacement = Distance/ & = ?;{ﬁ

(d) None of These/ TAH & FilE A5l

The whistle of a fast-moving rail engine is heard
ascending-descending when it crosses the station; it is
called:

ST T # ST ATl o o7 shi HIET T T T XA THT
FEAT-SALAT FATS IAT §; T FgT ST 2

(a) Peltier Effect / Tfeea wamar

(b) Doppler Effect/ Staer¥ T91a

(c) Ultrasonic Voice/ SeaTa == siramst

(d) Subsonic Effect/ TaaTfas 51

The velocity of sound doesn’t affect:

ed T T 37 TATTAT ol FedT 2

(a) Heat/ T+t (b) Medium/ w&as
(c) Pressure/ @&Td (d) Humidity/ ssar
Curie is a unit of:

FLE TF T T

(a) Current/«gl

(b) Voltage/ @St

(c) Luminous Intensity/ AT draar

(d) Radioactivity/ ¥f=arerfFar

31

32.

33.

34.

35.

36.

37.

38.

39.

. A diode is used for:

T TTATS FT ITANT AT ST 2

(a) Modulation / HTSIered

(b) Oscillation/ FTAT

(c) Amplification/ Ta&=

(d) Rectification/ 4T

The scientist associated with flotation is:
AT AT & HATT FATAF &

(a) Archimedes / nfFHfa

(b) Newton/ &

(c) Louis Pasteur/ 9= T4¥

(d) None of These/ TH & FIS Aol

The unit of Viscosity is:

LATHAT T THTE B

(a) Poise / forear

(b) Pascal/ 9r&shet

(c) Poiseuille/ Tizdz

(d) None of These/ TAH ¥ FIs A5l

Acceleration is inversely proportional to:
LI SFHTLATAT BT 2

(a) Force /o« (b) Velocity/ 3T
(c) Mass/ ®TH (d) Distance/ T

Which among the following waves can’t be polarized:
Frerferfea & & B a3 1 gt 92 BT s aear 2
(a) Sound / 3maTST (b) Radio/ ¥fe=r

(c) Infrared/ ToRTE (d) Ultraviolet/ TeraT=t
What is the frequency of direct current:

famemer &1 sty et 2t 2

(a) 50 Hz /50 g&s (b) 60 Hz/ 60 Bt

(c) Zero/ = (d) Infinite/ 3=

The value of acceleration due to gravity at the equator
will when the earth stops rotating:

LT YT T [EATHY T o6 HI0 @0 HTAF O
ST AT HAAT 47 FL A0

(a) Increase / SgTd

(b) Decrease/ &t

(c) Become Zero/ X 'QPF ST

(d) Remains Same/ F&T TEaT &

Which of the following is used in the oven:
Feferfeaa # & et ST stae # o srar &
(a) X-Rays / Ta-¥

(b) UV Rays/ T&T faut

(c) Microwaves/ HTZHIES

(d) Radio Waves/ =T a3t

Who enunciated the laws of planetary motion:
Tt it T & et i e afaortea

(a) Nicolaus Copernicus/ fRarere wrazfRa
(b) Johannes Kepler / STTET= FIeT

(c) Issac Newton/ S&HTeh v

(d) Galileo/ drefiferaT
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40.

41.

42.

43.

44.

45.

46.

47.

48.

Which of the following diodes is most commonly used as
a voltage regulator:

FReferie #§ & #9491 TEe qiees Teel & &9 § qa9
Frfersh Tt FoRaT STTaT 2

(a) LED / uefest

(b) Zener Diode/ S¥Y STATE

(c) Var actor Diode/ 1< Af¥=dT T=Te

(d) Tunnel Diode/ T[T TTATE

Gamma rays can cause:

TTET 3ROt TaT T g 8

(a) Gene Mutation / S{I9 Icaf¥ad«
(b) Sneezing/ =T

(c) Burning/ STetdT

(d) Fever/ q@TX

Hydraulic machines work on the principle of:
gregrters wefi= v firgia ow #18 Fdt 8
(a) Newton’s Law / =& &1 fAa%

(b) Joule’s Law/ ST &7 e

(c) Pascal’s Law/ 9T&dl &1 A9

(d) Flotation Law/ era=efierar

Name the commerecial unit of electric energy:
= 1T it ATIATAF THTE 1 918 TAT0:
(a) Kwh/ &1 (b) Ampere/ TEfIT
(c) Volt/ are= (d) Ohm/ &%
One calorie is equal to:

T AT I I g

(a) 1.284] (b) 4.186]

(c) 6.418] (d) 8.146]

What is the refractive index of a diamond:
B T ATadAT F97 gl &

(a) 1.44 (b) 1.47

(c) 1.77 (d) 2.42

The upward force on a floating body is called :

7 gu T 92 3o it A 9 AT g A Fal AT
&

(a) Jerk / =af<w

(b) Buoyancy/ 3Tt

(c) Archimedal Force/ snfffeae wet

(d) Anti Gravity/ Tt Ifadt

Which colour is formed when Yellow and Cyan are mixed:
AT S e e o2 Fi9 &7 97 a9ar €

(a) Red /=Tt (b) Green/ 3T

(c) Blue/ Fi=T (d) White/ F%%
__areused in RADAR systems:

T Breew ® &7 IUFRT 3T St g

(a) Ultraviolet / T¥TavT=t

(b) Infrared/ ToFRTLE

(c) Radio Waves/ ¥f=aT a4t

(d) All of These/ o Tt

49.

50.

51.

52,

53.

54,

55.

56.

10* Fermi is equal to:

10* wHf TTET E:

(a) 1 Meter/ 1T

(b) 100 Micron/ 100 ATZHIA

(c) 1 Angstrom/ 1 U&ai®

(d) 0.1 Angstrom/ 0.1 TiT&2iH

Rad/sec is the unit of:

TS/ TR

(a) Angular Displacement/ #Tofi=r faema=r

(b) Angular Velocity/ FToft 2T

(c) Angular Acceleration/ FTofiar eor

(d) None of These/ TAH & FIs A5l

1 Micron is equal to:

1 AT I¥TaT graT 2:

(a) 100 mm /100 &y  (b) 1000 mm/ 1000 At

(c) 0.01 mm/ 0.01 "t (d) 0.001 mm/ 0.001 Fft

Which of the following is an auxiliary unit:

Frarforfed & & 21t T T T 2

(a) Radian /¥fRa+ (b) Steradian/ TXfea+

(c) Ampere/ TFIT (d) Both Aand B/ T i< &F
AT

_____isused to examine the internal parts of our body:

__ T ITANRT AT 90T % AqF AR 6l = g

T ST &

(a) Microscope / ATZHIEHIT

(b) Periscope/ ufienmy

(c) Odometer/ SAETHIEX

(d) Endoscope/ GSI&hIq

Which instrument is used to measure the height or
elevation:

FATE AT AT 1 /YA  forw foFer 751 1 ot strar
&

(a) Micrometre / ATSHIHIET

(b) Telemeter/ TATHIEZT

(c) Hypsometer/ grEurHieY
(d) Tonometer/ ZATHIET

To measure the strength of direct current is used:
JeAET GTT T 91T T AT & o7 T YA AT SATAT

(a) Tachometer / et

(b) Spectrometer/ Fﬁﬂ-@'%ﬁ?{

(c) Voltmeter/ aTecH

(d) Tangent Galvanometer/ TqIET feadaTH T
Find out the true statements
conductivity:

FTITT ATAFAT % Hae § Al FAAT T TAqT A0
(a) Steel>Wood>Water / Tiel> FhgT> qTHT
(b) Steel>Water>Plastic/ > qT1> TR
(c) Water>Wood>Steel/ TTt> ST T> Tt
(d) Water>Steel>Plastic/ IT=1> ¥ier> woATfRes

regarding thermal


https://www.adda247.com/product-books/25515/yogdan-samanya-adhyan-book-2500-bilingual-mcqs-printed-edition-by-adda247

57.

58.

59.

60.

61.

62.

63.

64.

65.

As the temperature increases, the thermal conductivity of
the solid metal _____

STE-STH qTIHETT F@dr % BT 4T AT qrdT AT
(a) Increases / qEATE
(b) Decreases/ I=aT &

(c) Remains Same/ <'=|'§pf Lgar %
(d) None of These/ T7H & FIs Aot

is the external energy applied on a body to change
its state of rest or uniform motion:

T aTgd et g St T e uw SRt R st A
TFHHHTH T T Faa o o7 9T AT 22

(a) Force /s (b) Pressure/ @dTa

(c) Buoyancy/ 3&r<t (d) Impulse/ 3TeRT

If a car is running at a speed of 72 km/hr and stops after
45 seconds, then what will be the retardation:

TfT U FT 72 FRET/EET HiT T F T EF § T 45 THE &
% wF SATAT §, AT HadT 47 T

(a) 0.3m/s? (b) 0.25m/s?

(c) 0.44m/s? (d) 3m/s?

Surface tension depends on:

I8 q91E A7 Far &

(a) Atmospheric Pressure / aTIHEAT AT

(b) Nature of the Liquid/ @< T Tafa

(c) Temperature of the Liquid/ Tt T qTIHTT

(d) All of These/ T THT

The matric system is also called:

A TOITeAt 1 AT Fgr SITaT 2

(a) CGS / #istrus

(b) MKS System/ TH#uH fFreeq

(c) SI/ TaarE

(d) None of These/ TAH & FIs Aol

Plane angle and solid angle are:

THAA I T ST AT &

(a) Fundamental Quantity / ®ifers @m=m

(b) Derived Quantity/ sqca« HTAT

(c) Supplementary Quantity/ X HTAT

(d) None oy These/ Fs Tgi AT I

Which one of the following is not a secondary pigment:
FReferfea & & & |7 fBedt=e 3o 721 &

(a) Green /g (b) Red/ =Tet

(c) Blue/ =t (d) Yellow/ fi=r

When you look at a mirror, the image you see in the
mirrorisa________ image:

wmwﬁwaﬁé@%% qT T IO H ST i @A § a8
Th______ @A

(a) Virtual / seTHT (b) Real/ sr&ett

(c) Reflected/ wifafa@ (d) Plain/ |TaT

What type of spectrum is the rainbow:

ZEHY T T T T g

(a) Natural Spectrum / Wi TaaFed

(b) Artificial Spectrum/ W Ty

(c) Both A and B/ T T &Y =t

(d) None of These/ T7H & FIs Aol

66.

67.

68.

69.

70.

71.

72.

73.

74.

Which of the following has no units:

Frerferfaa @ & ferht #1212 781 &

(a) Thermal Capacity / =¥ &AHdT

(b) Magnetic Susceptibility/ Fara Hagaefraar
(c) Angular Acceleration/ #Tufiar wor

(d) None of These/ TAH & FIs Aol

The primary cause of motion is:

i &1 i w T g

(a) Velocity / T (b) Acceleration/ caXdr
(c) Force/ &<t (d) Energy/ F=it
Gravitational massisa
TR AT UH
(a) Vector / a¥%

(b) Scalar/ TFT

(c) Tensor quantity/ &< HTAT

(d) None of the above/ IUTE § & Fls A5l

The momentum of a body depends:

Foreft T =T o T Fear 2

(a) Only on its Velocity / &< H® a7 9T
(b) Only on its Mass/ aeT SH® TFHTT T
(c) Both A and B/ T siiT &Y 2=t

(d) None of the Above/ SUZITH | & IS Al

The force acting on a body is always parallel to:
et i 9 T e JTeT a1 T qHTaY BT &
(a) Velocity / 3T

(b) Acceleration/ @91

(c) Momentum/ fa

(d) None of the Above/ SUZITE | & HIS Al

A body whose momentum is a constant must have a
constant:

e e S g4 us [aais g, vF Fadais gmT A1 u:
(a) Acceleration / XU

(b) Force/ &<t

(c) Velocity/ T

(d) None of These/ TAH & FIE A5l

The motion of a bicycle wheel is:

TS % TIRT T (T gl 2

(a) Translatory / fdat<s

(b) Rotary/ Tt

(c) Both A and B/ T siT &Y 2=t

(d) Curvilinear/ T#r

Force x time =

e x gHT =

(a) Momentum / n‘i%r

(b) Impulse/ 3TaT

(c) Force/ &<t

(d) None of These/ TAH & FIE A5l

Inertia is proportional to:
(a) Mass /HTH

(c) Length/ =TS

_ quantity:
qTEATE:

(b) Weight/ gt
(d) Height/ F=TS
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93.

94.

95.

T H 9T THRTA T, THH-Y, AT et Y=
T, ATZHIAE, TTSIHT 3T STFh ql AT 3
(a) Mechanical/ #faae
(b) Magnetic/ Fa&iT
(c) Electromagnetic/ ﬁ'g?r T—“@Fﬁ?
(d) Electric/ sofea®

Which of the following is not a characteristic of sound
waves:

eferfad ® & i eafa a&n & fSowar 787
(a) Velocity / a1

(b) Nature/ SIT%

(c) Wavelength/ T3T 32

(d) None of These/ TAH & FIs Aol
Echocardiogram is used in _ :

TRIRTIS TRTH T AT H o Smar &
(a) Bioelectricity / aTaTZ el

(b) Radiation/ fafezur

(c) X-rays/ Ta-X

(d) None of These/ TAH & FIT A5l

Which of the following lamp has the highest energy
efficiency:

Fefertaa & & B o & ST 29ar 9a9 A9+ 2

(a) LED / Terssy

(b) CFL/ HUuer

(c) Arc Lamp/ 3 &9

(d) None of These/ TAH & FIs Aol

96.

98.

99.

100.

The minimum speed required by a spacecraft to escape
the gravitational pull is

TR f=Ta | F9 % o iqier I g asa®
RUELRIGH S

(a) 6 Miles/sec / 6 HIeT / Fhe

(b) 7 Km/sec/ 7 Tt / T

(c) 7 Miles/sec/ 7 HIeT | e

(d) 10 Miles/sec/ 10 ¥iet / Hshe

Acceleration due to gravity (g)= :

TECATHYT & FHTLT @20 (S{T) = :

(a) G/MR? (b) GR*/M

(c) GM/R? (d) GM/R

Mechanical energy is equal to:

T ST aOEaT g

(a) Kinetic + Chemical Energy / T e + TETATE FoTt
(b) Kinetic + Potential Energy/ FTe«{e® + AT SHorl
(c) Kinetic + Heat Energy/ FTefe® + gie UASH

(d) Kinetic + Electrical Energy/ FTeatea® + fa=[a =it
If a plane travels a distance of 4000 M with the work done
of 2000 J, then the force applied is:

T2 Ua AT 2000 ] 3 F1F % 9T 4000 M FT T TT Far
&, AT ST AT 9 2
(@ 5N/5T

(c) 25N/ 2519

(b) 10N/ 10 T
(d) 50 N/ 50 U7

il

BIOLOGY

|

What is a group of cells called?

FITAFT F THE T FIT Fgd g ?

(a) center/ Fx (b) tissue /3

(c) chromosome/ U (d) protoplasm/ Strawer

In which year was the cell first discovered?

FITArRT T @St Jager o ad # i oy off 2

(a) 1669 (b) 1660

(c) 1730 (d) 1665

What is the jelly like substance present in each cell called?

T FITART § Tr=rAT STeft S 57 &l 47 Fgd ¢ ?
(a) nucleoplasm/ ?{c!-?*ﬁﬁ'«?ﬂ?ﬁr

(b) protoplasm/ STEraTsH

(c) both of the above/ IUI<h ZIAT

(d) none of the above/ UL IS Al

By which of the following membrane is the vacuole
enclosed?

e o & e foreett & Rferar Tag el g ?

(a) Tonoplast/ Zr=T®= (b) Chloroplast/ FALCATES
(c) Leucoplast /W (d) Rhodoplast/ ﬁ@rcﬂ'i{
Which cell is also called power house?

T~ | ATTAHT ITaT g S Fgl SATaAT § ?

(a) Ribosome/ TrzaETH

(b) Golgi body/ ITestt=rT

(c) Mitochondria/ ATZaraTegaT

(d) Nucleus/ =Tara=

Who synthesizes proteins in the cell?

FI HITART | TTET HEWOT F2am & ?

(a) Golgi body/ TTestiaTa

(b) vacuole/ Ff<FaT

(c) Plastid/ =Tf*es

(d) Ribosome/ TTEamETH

Whose number is fixed for a particular caste?

Fareft TR P 3 orey ooy e Forfor 2rey 2 7
(a) center/ F=x (b) cell /=TT

(c) chromosome/ A (d) Plastid/ wTfes
Which of the following are suicidal?

Forer # & T ATeEaT 219 2 7

(a) Ribosome/ T=A™  (b) Lysosome /TATSHIHIT
(c) protoplasm /Sftas=T  (d) Galjikoy/ ITTestisia
Which of the following is related to secretion?

% & & 9 =a | gratead g ?

(a) vacuole/ RXf<raT (b) chromosome /I[UTFA
(c) Plastid /=TS (d) Galjikoy /3TTestraRt=
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10.

11.

12.

13.

14.

15.

16.

17.

18.

In what does the oxidation of foods take place?
QTN TRTAT &7 ATFHor e grar g ?

(a) Mitochondria/ WTEZrwTegAT

(b) Ribosome/ T=aHH

(c) nucleus/ FvsH

(d) vacuole/ FferarT

Who among the following discovered the cell?
e & & T FrforrT 7 @re it off ?

(a) Robert Hooke/ TTae gh

(b) Darwin/ =T

(c) Robert Brown/ a2 SIS+

(d) Purkinje/ q¥feher

What is the color of flowers and fruits due to?
TOT TAT FeAT o6 T TRk 0T g 8 2

(a) Green lobule/ gRa @a#

(b) achromatic lobules/ 3raoff =

(c) Varni Lak/ aoff sta

(d) none of the above/ IUTH § FIs Al

Who discovered the lysosome?

AT 61 @iot e i ot ?

(a) Robert Brown/ TTaE a3+

(b) Pleming/ ¥

(c) Paled/ f=rs

(d) De Duve/ ¥t o

Which is also called dictyosomes?

e fefere oft e srar 2 2

(a) Reaper/ ea®

(b) Mitochondria/ @TEer=RIogAT

(¢) nucleus/ FvsF

(d) Golgi body/ TrestawTa

Whose origin is from the endoplasmic reticulum?
P SeTT e 7oA ST & 2T 2 2

(a) nucleus/ FwsF

(b) Microbodies/ ATSHIETE IS

(c) Reaper/ @

(d) mitochondria/ WTZeT®ITegaT

How many bones are there in the human body in total?
AT 9T § g TohaeT it gt 8 2

(a) 210 (b) 211

(c) 201 (d) 206

How much water is there in bones?

atfReret & et Pt s 2T 2 2

(a) 60% (b) 40%

(c) 50% (d) 10%

The vertebral system is made up of how many bones?
FORF, o T PRt R 3 e & AT 2 7
(a) 37 (b) 33

(c) 43 (d) 57

19

20.

21.

22,

23.

24.

25.

26.

27.

28.

. Which of the following is not a bone of the legs
e § & A=t T AT TR ©
(a) Femur/ F¥< (b) fibula/ freaT
(c) scapula /@TW (d) Metatarsus /HeTeTHd

How many bones are there in the human face?

AT % A< T T Fhael AT gel 8 ?

(@) 14 (b) 15

(c) 19 (d) 21

How many taste buds are there in the human body?
ST & 9T § 79T Fohaet wame wfersrd grd 8 2

(a) 100 (b) 1102

(c) 1000 (d) 1125

Which of the following has control over the voluntary
nervous system?

oo & & e Ufsee dfEer d aw e gar g 2
(a) brain or cerebrum/ THTEISF AT AT

(b) cerebellum/ SrqaETH

(c) Medulla oblongata/ =T SaARIET

(d) none of the above/ IUTF § FIs Al

How many frequencies of vibrations per second can the
human ear hear?

IS % 19 e g Tid AHve qTefl FFIT H g9 T
?

%a) 15-15000 (b) 100-1000

(c) 500-25000 (d) 1000-15000

How many milk teeth does a human have in total?

AT & &4 fhae g Iiq F5ve areft w8 9= &0 9 T
>

?a) 23 (b) 24

(c) 18 (d) 20

Whose deficiency causes goitre or goitre?

TENTUE AT HET TT Foheehl FHT & 21 SATaT 3 2

(a) Iodine/ srarEie (b) sodium /===

(c) Potassium /9TeTfo@® (d) Chloride /FATEE

Which organ system of man was discovered by William

Harvey?

Frforra 27 3 W 37 P s A e o 2

(a) nervous system/ T3T T

(b) skeletal system /371 g

(b) Blood - Circulatory System /&fa% - afiE=or d=
(d) reproductive system /SS9 T

Which of the following is a mixed gland?

e & F- T gt g2

(a) Pituitary gland /ﬁ‘a(d‘& afer

(b) Thyroid gland /aTa<TzE Tfer

(c) Adrenal gland TgiHe Tfer

(d) Pancreatic/ 3Tamerx

A5 & & FI9-97 TwIT=H 39 & 9= Far g ?
Which of the following enzymes digests milk?

(a) Pepsin/ afeas (b) Tylen/ zTsfer=

(c) Rennin /&= (d) Amylase /THTEAS
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29.

30.

31.

32.

33.

34.

35.

36.

37.

Which of the following organ stores food in the form of
glycogen?

8 H | FIF-7T ST AIS FT T30S 6 &T | Hi=d Fam
g7

(a) small intestine /T 3d

(b) Stomach /3rHTII

(c) large intestine /ET sifa

(d) Liver /aFa

Which of the following is also called cellular fuel?

e 7 & o Frferd Sga off FgrSar g 2

(a) fat/ =&T (b) Glucose /7@
(c) Vitamin/ faerfa= (d) Ammonia /3rHT==AT
e o 7 5 orher fpvae fr T STaT 2 2

Which of the following is also called sugar fermentation?
(a) aerobic respiration /ATTAT FTEH

(b) anaerobic respiration /3ETIT sTHqT

(c) both of the above /IU<Ih &A1

(d) none of the above /ST FIs Aol

What is glucose converted into in glycolysis?
TATSARITATEE | TS ohed ST d gl SIar g ?
(a) Carbohydrate/ FTaTgrzge

(b) Glycogen/ TSI

(c) Pyruvic acid /aT&EF vt

(d) Sugar /erh<T

Which of the following are mammals?

Frfore 273 3 T[T ¥ Fre s et A oft 2
(a) Aminotelic/ F¥HIATZ (o

(b) Uricotelic /TZITefer

(c) Uriotelic /gRaefer®

(d) all of the above /3Tr=h Tt

How many ATP are generated from one molecule of
glucose in the process of respiration? become

e ST TOHRAT § T (0] Igahist F fohae TEALH, a9q 8 2
(a) 36 (b) 30

(c) 48 (d) 38

There are many small tubules in each kidney, what are
they called?

TAF 9F H AT R TR0 gl 8, 3vg FIT Fad @ ?
(a) Cytone/ &TEEI (b) cell /TforHT

(c) nephron /his (d) retina /XEET

On which part of the tongue is the sweet taste felt?
Y97 o foe ST O |TS ¥aTe T AgaTq grav g ?

(a) forward/ 3131

(b) middle/ #eq

(c) on both sides/ T AT T

(d) lateral part/ 9T 9T

What is the length and width of the large intestine?

FET AT A AFATE AT FTSTE Pt Frefr 8 2
(a) 150 cm. 8 cm/150 #¥Y. 8 7.

(b) 130 cm. 11 cm/130 &Y. 11 T4,

(c) 110 cm. 25 cm/110 3. 25 T4,

(d) 7 cm.103cm/7 5. 1039,

38

39.

40.

41.

42,

43.

44.

45.

46.

47,

. Which of the following is an emission unit?

e & & e &Y SeEsi T B 2

(a) ventricle/ foerr

(b) nephron/ ST

(c) small intestine/ ZieY sifa

(d) pancreatic/ T4T9T

Approximately how many times does the human heart
beat in a minute?

TS g2 UF fAee § o fhaet a1e ag+ar g 2

(a) 82 (b) 62

(c) 102 (d) 72

Which of the following bone is not a part of the skull?
e & & Fa-t e @t w1 REr g e ?

(a) Frontal/ Srvea (b) Ethamide /UIHTZE

(c) Femur /$rH¥ (d) Parental /afteeet
Deficiency or excess of which gland causes a person to
become sow or extra?

T wrfeer &t et =T srferaraT & =afe =T AT At g1 Strar
g?

(a) Thyroid gland/ @T=¥Tse Uty

(b) Adrenal gland/ 31'@% afer

(c) Pancreatic/ sTaT9T

(d) Pituitary gland/ o afer

Which gland is also called adrenal gland?

o wfeer =i vdaer afer S FeT STAT R 2

(a) Adrenal gland/ 31'@% afer

(b) Thyroid gland/ @iz ufer

(c) Pituitary gland/ Eﬂ'{& afer

(d) Thymus gland/ =T=H& Tfex

Which hormones are secreted by the adrenal glands?
fEgs T & FI9 F SHIT AT 2T 8 7

(a) Cortex/ FTead (b) Thyroid /aTg¥TEe
(c) Insulin /Z=ferT (d) estrogen /TEEISI
Which hormone is released in emergency situation?
HeheaTe( | eIt § f197 grHi Hahear g ?

(a) Thyroxine/ Ji=<1f#a« (b) Cortex/ FTEad

(c) adrenaline/ TZIH=(I (d) estrogen /UEgISTH
What are the special cells present in the pancreas called?
FUTYT H IUTRAT AT FITARTY AT FgeATdl B ?

(a) Bowman's capsule/ STHT ¥

(b) Langer Haynes Island/ =TT =1 519

(c) Epidermis/ Tfiefia

(d) diaphragm/ STashre

Bile is secreted by whom?

O =1 =T foere g graT B 2

(a) Liver/ I&d (b) lungs /FFs

(c) kidney /9% (d) ovary /3TUsSTeT
Which of the following is a ductless gland?

e § & et qferwt g e 2 2

(a) Thyroid/ gTE=S

(b) Pituitary gland/ ‘ﬁ'{ﬁf afer

(c) Parathyroid/ T¥TameTze

(d) all of the above/ SUZI<F THT
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48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

Which of the following is the part of intelligence?

e & & FA9-97 9 g F7 =T 2

(a) cerebrum/ HfFask (b) spinal cord JRETS

(c) Cerebellar/ W‘%ﬁﬁ (d) Skull /&uTer

Which of the following proteins helps in clotting of blood?
7 & T F9-97 T T T AT STGTAT E ?

(a) hemoglobin/ grReATER

(b) Fibrinogen/ ®T=faTSIT

(c) Globulin/ wﬁ@:ﬁﬁ'rr

(d) albumin/ Wﬁ?

Which part of the brain controls reflex actions?

AT T HIAET TIT TAad’ st &7 faresrr fear € 2
(a) Cerebellar/ W%-FF

(b) brain/ THfEaTH

(c) Medulla oblongata/ ﬁ@jﬂ ArTARIET

(d) spinal cord/ ﬁ'ﬁﬁ[

Which gland is also called master gland?

o e 7 Areew gt off Fgd € ?

(a) Thyroid gland/ @T=¥ize Aty

(b) Adrenal gland/ rférgs; wfeyr

(c) Pituitary gland/ F= wfer

(d) none/ Frs AT AET

Which hormone controls the amount of sugar in the
blood?

FITET AT & H 9T T AT i =T Fear g ?
(a) Thyroxine/ JizTfaa=

(b) Testosterone/ TEeE2LA

(c) estrogen/ TEZISIH

(d) Insulin/ T=gfo

Who does the work of pressure balance and excretion in
the cell?

FITAFRT | T FeqeAT T IS T HA Al BT & ?

(a) Nucleares/ =[#{1a® (b) Plastind /=T{¥eT

(c) vacuole /Rt (d) Ribosome /TT=a|H
How many calories of energy are obtained from one gram
of carbohydrates?

T UTH FTaiglese o fhadl HeA <l Sl STH gl & ?
(a) 5.3 (b) 41

(c) 42 (d) 3.4

Which of the following is also called milk sugar?
o & & o g o oft Fgd & 2

(a) Maltose/ AT=aTS (b) lactose/ TFaTsT

(c) sucrose /{L’?ﬁH (d) Glucose /Wﬁﬁﬁ

The cell wall of plants is mainly made up of which
carbohydrate?

ITEIT T TR foir qeaa: o Frargrege 3 -t gt 82
(a) & /Glucose (b) AT/ Maltose

(c) =TT /lactose (d) ﬁw /Cellulose

How many types of amino acids take part in the formation
of proteins?

TIE o AT § e T & STHIAT 3% AT o § 7

(@) 21 (b) 25

(c) 23 (d) 20

58

59.

60.

61.

62,

63.

64.

65.

66.

. Which of the following provides protection to the body in
the form of antibodies?

et it FrferRT ety qeEa: e FEterese | adt gt 82
(a) FTaTgT23e/Carbohydrate

(b) =®T / fat

(c) A /Protein

(d) faerf¥=/ Vitamin

How many calories does one gram of fat provide?
U YT 79T & et FeArdt Sort (ot 8 2

(@ 7.5 (b) 85

(c) 9.8 (d) 95

Which of the following gives maximum energy?
e & e s stfers oot 9T gt § ?

(a) fat/ =4r

(b) Carbohydrate/ FTaigIzge

(c) Vitamin/ fEerfae

(d) Protein/ &=

Which of the following vitamins is not soluble in fat?
Forer # & e e 7o & ey A & 2

(a) Vitamin A/ femf@T A

(b) Vitamin B/ fareTt®= B

(c) Vitamin K/ faerfaa K

(d) all of the above/ SYZIh THT

Which of the following vitamins helps in wound healing?
7 & 7 e e 9= 9 § agEar Farg ?
(a) Vitamin B, faeTfa= Bs

(b) Vitamin D/ faarfa=r D

(c) Vitamin C/ 1= C

(d) Vitamin E/ f3et®= E

Which vitamin helps in blood clotting?

FIAAT T HA Th Theeld § T2 g g ?

(a) Vitamin E/ 1= E

(b) Vitamin Biz/ /et B12

(c) Vitamin C/ fa=rfd= C

(d) Vitamin K/ faerfa K

Scurvy is caused by the deficiency of which vitamin?
T 7T P FRreTir A A & A ST 2 7

(a) Vitamin A/ femf@T A

(b) Vitamin C/ fa=rf®e C

(c) Vitamin E/ f3erf@= E

(d) Vitamin B2/ fa=Tf®+ B12

Kwashiorkar disease in children is due to the deficiency
of?

TgT H FIAATHL T Foweeht FHT = F7 2T g ?

(a) fat/ == (b) Vitamin /fEerfae

(c) Water/ STt (d) Protein /I
Which of the following is also called protective food?
e & & o vearers g A FEd 8 7

(a) water/ STt (b) Vitamin /fEeTfa=

(c) Protein /J&= (d) fat /==T
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85.

86.

87.

88.

89.

90.

91.

92.

93.

Which of the following is
carbohydrate?

9% & & FI9 A7 TS FEigrese qal 8 ?

(a) Chitin/ Frsfe (b) Maltose /¥Tearst

(c) Starch /== (d) Cellulose /HeTATST
What is measured with a sphygmomanometer?
R & 47 /797 SATaT § 2

(a) blood pressure/ Txhard

(b) air pressure /aTIaTd

(c) pulse /ATET

(d) Eye ability /7= &7HdT

Which of the following is not a bacterial disease?

5 7 & FET s AT A gl § ?

(a) Tuberculosis/ @fe® (b) Polio /arferaT

(c) Tetanus /fees® (d) Typhoid /ZTETzE
Which disease is also called 'Dhanushtankar’ disease?
TR TRT T "guEaRTe TT AT &gl SITaT 8 2

(a) Cholera/ g<T (b) Tuberculosis /qufa®
(c) Tetanus /feeas (d) Polio /9rferaT

Which disease is protected by getting DPT vaccine in
children?

FFT & DPT T &eT ovTaT | ohe T7 / 7T 21 STt 8 2
(a) Polio/ drferar

(b) night blindness/ TaTeft

(c) Dengue/ é“l

(d) Tetanus/ feeas

By whom does the cholera bacterium spread?

&S TNT T S{TaTo] foheTeh T erd T & ?

(a) horse dung/ =g #it g

(b) Saliva/ =X

(c) bees/ afFaat

(d) blood/ ™%

Which disease is also called 'Motijhra’ or 'Intermittent
fever'?

TR TR T AT AT AT gET W FEd g ?
(a) Cholera/ &=

(b) Polio/ drferat

(c) Dengue fever/ = F@TT

(d) Typhoid/ ZTE®TEE

Which disease is also called 'Yakshma' or 'Kak Rog'?
TR TT T T AT AT "R AT AT FEd E ?

(a) Tuberculosis/ @ufe® (b) Asthma /ZHT

(c) Scabies /@1t (d) Smallpox /===

Which is the latest developed medicine for Tuberculosis?

not a polysaccharide

94.

95.

96.

97.

98.

99.

100.

TUTE TAT T AH AT [ ar H-81 § 2
(a) Streptomycin/ TITHTZHIA

(b) Willisin/ fa<ffae

(c) BCG/BCG

(d) none of the above/ IU<I<E § FIs Aol

In which disease nets are formed in the respiratory tubes?
T 2T § g Aforat § Srferat a9 STt € 2

(a) Tuberculosis/ TufF (b) AIDS /UZH

(c) Diphtheria /fR¥f=T (d) Leprosy /&g

Which disease is transmitted through the air mainly in
children?

FIAHT TT gaT F1T qe&ad: agi # Tq1d grar g ?
(a) Pneumonia/ fAwifear

(b) Whooping cough/ FTAT @IAT

(c) Dengue/ @'{[

(d) Diphtheria/ feveftRaT

Which disease affects the central nervous system?
R8T T T TATE eI AT HeAT9 T 2rar g ?
(a) Dengue/ =T

(b) Leprosy/ &

(c) Polio/ Trferar

(d) all of the above/ SUZI<F THT

Which of the following is not a viral disease?

A § & Far AT IR aEl © 2

(@) Mumps/ TG (b) Measles /@ax1

(c) Dengue /3T (d) Tetanus /feea®
In which disease the parathyroid gland becomes swollen?
o TT # reTeTTEE wte g9 St € ?

(a) Mumps/ T (b) Thyroid /=T=¥ize
() flu /% (d) Smallpox /==
'Masoorika sign' is the symptom of which disease?
T g g TRT i e g 2

(a) younger mother/ T ATAT

(b) Smallpox/ ===

(¢) Confed/ Fihg

(d) Whooping cough/ #Teft @feft

Which disease is caused by Lyssa virus type-1?
ATZET ATSIH 2139 -1 FRT FFET AT 2ar g ?

(a) Hepatitis/ f@oer=fedr  (b) Asthma/ z®T

(c) Rabies/ ¥&fisr (d) Smallpox /===

il

CHEMISTRY

11

In chemistry, what is a substance that cannot be broken
down into smaller, simpler chemical substances and is
made up of a sequence of sequences?

TETAA T H, FI |1 aeq g, 5 gre a7 qamatas aege
H farariorg w& 6T ST JhdT 8 97 98 TS TEE & TIHal
EERIERi

(a) compound/ FFT3E  (b) Elements /dca

(c) gas /= (d) mixture /fRsor

What is the atomic number of an element referred to?
oY e T oY) S e dafsa it ST gl

(a) number of protons,/ ST=id #iT FEAT
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(b) number of neutrons/ ¥Igi9 #¥ T

(c) number of protons and neutrons/ STei 3f¥ =T #r
qET

(d) number of atoms in a molecule/ T 379 H TTHTULSAT £
e

The oxidation number of oxygen in a compound is +2.

Foreft =T & siferioTer i stferfreReT JeaT +2 )

(a) H202 (c) Hz20

(b) CO2 @ OF2

Discovered that the nucleus is positively charged.

ATTH % ST T 2 00 @ret hr 7|

(a) Thomson/ =iFa+

(b) Rutherford /TETHIE

(c) Bohr /aTgx

(d) James Chadwick /ST¥ J=fas®

Photo electrons are released when-

R TeiT e & A

(a) Let's heat the zinc plate./ {5/ == &1 T F7d & |

(b) zinc plate is beaten./ i wre #T fed &

(c) when the zinc plate is irradiated with light of suitable
frequency./ ST ST AT & THTI FIT i el
farfereor 3T €

(d) the zinc plate is treated with high voltage./ 5= e
T I Alees § ITATA FYd & |

Who is called the father of Indian nuclear science?

AT IATY] Fa=Te o foamag o Fgr SIrarn g |

(a) Homi J. Bhabha/ gI¥T ST, ATAT

(b) Satish Dhawan/ @1er e+

(c) C.V.Raman/ #t.3. T

(d) S.S.Bhatnagar/ TH. TH. HEARL

The value of nucleon is

AT T AT rav g |

(a) electron number/ SeiaFia HE&AT

(b) neutron number/=Ig{T H&AT

(c) proton number/ a9 HEAT

(d) neutron and proton numbers/ ¥Ig{ T& Tl AT

The molecular weight of heavy water is .

AL STl T ST[ATT 2
(a) 20 (b) 22
(c) 18 (d) 19

J. Chadwick discovered a subatomic particle. What are the
characteristics of that particle.

ST, A=A o UF STILHATIAF FH07 T ST Tl 39 FH

#T FFerard FT E |

(a) It has negligible mass and negative charge./ TH#H
VT FEHTA & TAT FE0TTCH 39T 2 |

(b) Ithas negligible mass and positive charge./ T8 A3
AT § TAT &ATHS a9 2 |

(c) It has significant mass and positive charge./ TH#H
TTAF FHHTT § TAT IATHT AT B

(d) It has significant mass and no charge./ 8% #TIH
FEIHTT § TAT FlE 9T T80 & |

10.

11.

12.

13.

14.

15.

16.

17.

18.

is the size of the atom.

TTHTI] T SAHT 2
(a) 10-19m (b) 108m
(c) 1010 cm (d) 1012m

Which of the following elements has the smallest atomic
radius?

freferfea & & fr ac =1 w=Top Brear g9 Frer gar 2
(a) Bromine/ STHIA (b) chlorine /FAE

(c) sodium /=IfEaw (d) calcium /%%H’Zﬂ{

Which of the following radioactive element is used in
making heart pacemaker?

e & | 1 - &7 R T ga T THHE a9 ® ITART
AaT Y |

(a) Radium /Xf2=w (b) Uranium /Qﬁﬁ'&'q

(c) deuterium /=@® (d) Plutonium /<Er<ae

Who discovered radioactivity?

YA faT i @ B A

(a) Henri Becquerel/ g1 aaFeet
(b) Satyendranath Bose /Scd=dT a8

(c) Jones Jacob Baselius/ STT=e Siehal astferae
(d) Albert Einstein /3o AgvaeTsa

The number of moles in 52g He is

52g He & HIAT it T4 2
(@ 1 (b) 13
(c) 26 (d) 52

The discovery was made as a result of Rutherford's alpha
(a) particle scattering experiment.

TETHIE & TEHT (@) FOT THIUT TTRT F TROTHETET g
EARRil

(a) of proton/ STref #it

(b) of the nucleus in an atom/ TTHTY H Aferes &

(c) ofelectrons/ Teiaaid #it

(d) of atomic mass/ TTHATIAT F=THT Hi

The number of moles in 128 grams of SO2 will be
128 UTH SO, § | =l HEAT gHf|

(a) 1 mole/1¥rer

(b) 2 moles/2 T

(c) 3 moles/3 #rer

(d) 4 moles /4 9=

The smallest particle that takes part in a chemical
reaction is.

TS & BT FT AT THATIE hgT H AT AT 2 8 8 |
(a) Proton/ Wr&rd (b) neutron /7IgiT

(c) molecule/ 3T (d) atom /9THT
Which of the following is a compound.

Feferfag § 7w ar AT 2 |

(a) Petroleum/ UarferaH

(b) Kerosene oil/ fh‘g°r B

(c) milk/3&

(d) Glucose/ &SI

128
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19.

20.

21.

22.

23.

24.

25.

26.

Which formula represents the maximum number of
electrons that can be accommodated in the orbital of an
atom?

ToReT 92T % FeT § FHTATSIG (67 SI7 Fohel AT S0

& stferRas st i o 9 g1 29T STt gl

(a) 2n (b) 2n-2

(c) 2n3 (d) 2n2

Which of the following is not correct about an atom?

fAerferfera & & FreaT 97wy F 9§ 987 T8l 2l

(a) The atoms of the two elements are identical./ =T Tt
F IHTI] HHTF 21 2 |

(b) They are of the order of 10-10 m./ T 1010 m FA F
TEIUTH B 2 |

(c) Atoms are very small in size./ TTHTY] 3ATRTT ) aga B
2 2

(d) The atoms of an element are the same in all states./
U Tcd o TEHTI T STEeqrat § 90 g 2

Who discovered the electron?

TAFSIA T GIoT TR T of |

(a) Goldstone/ eewa«T

(b) J.J. Thomson/ 7.5, ITHAT

(c) Albert Einstein/ 3TeTare eedi

(d) Ernest Rutherford/ 3f<+e Ta¥®IE

By whom was the nuclear model of the atom first
discovered?

TEHTI] T ATIR AISe Tgel ST 3wk gTeT @ISIT 347 97 |
(a) Ernest Rutherford/ 3f<+e Ta¥®IE

(b) Dmitri Mendeleev/ o=t He<fi®

(c) Niels Bohr/ #ies &iT

(d) Louis Pasteur/ 9= 9T=¥

(a) neutron /=i

(b) electron/ TF2iA

(c) Proton/ Sietq

(d) Proton and Newton/ STaie 3fi¥ e

In the Rutherford experiment, alpha particles were
thrown onto a thin.....

TETHIE TANT |, TEHT FHOM [ TF TAAL..... TL STAT T4T 4TI
(a) silver foil/ =Tt T 7=t

(b) aluminum foil/ Q?{Fﬁﬁ?ﬂ:l' #¥ o=ft

(c) silver plate/ =eY it v

(d) gold foil/ &= T Tt

Which is not a subatomic particle of an atom?

T FT TTATI] T 3T TLHTI F07 951 2 |

(a) Xenon/ Sf=Tts (b) Newton /=I&iq

(c) Proton /Setq (d) electron /ZeiaFeT

Name three elements which have only one electron in
their outermost shell.

I AT qcat Tl AT e, Foree Ta aredt 9 § Faa UF
EREEE RIS

27.

28.

29,

30.

31.

32.

33.

34.

(a) Magnesium, calcium, and barium/ #3ftforw, Hfeeraw,
T o

(b) Lithium, sodium, potassium/ ferfoms, ofeam,
EIcuRpE)

(c) Helium, Neon and Argon/ gfera®, fA=ie sfiw st

(d) magnesium, helium and neon,/ #¥tforw, Eiferaw siw
[GRIG]

How many electrons are there in the outermost shell of
all the noble gases except helium?

BT T FreHT AT Trae T H g aredt w0 § A

TAFLA T |
(a) 10 (b) 6
(c) 4 (d) 8

The third class is denoted as ... shell.

PrEEY FeaT T L 9 F =T § A= BT S )

(@) L (b) K

() N (d M

Which of the following options is correct for two elements

having similar chemical properties.

THTH TTETI S 07 AT & Jedl & (o Feteted § & ®i

T faweT 98t 8l

(a) The elements will have the same number of valence
electrons./ Teal | HATS(T TAFSTAT hT HEAT THTA AT

(b) The elements will have different number of valence
electrons./ Teal | HATSIT ToraFeidl T HEaT 9 FRT |

() The atomic masses of the elements will be different./
Tl o TLHTI] FAHT (9 Z0 |

(d) The atomic masses of the elements will be same./
AT o TIHTI] FAHTH THH E00 |

'N' is the number of electrons that can be accommodated

in the shell.

'N' TS | THTATIT TR0 ST /e aTer STl it JeT 2

(a) 18 (b) 32

() 2 (d) 8

The maximum number of electrons that can be

accommodated in the fourth energy level is

AT & Fq T | A 36 ST qohe a1l SAFe i1l

FTIFaw FEAT 2 |
(a) 2 (b) 32
(c) 18 (d) 8

The mass number of an isotope of an element is 298. If it
has 188 neutrons in its nucleus, what is its atomic
number?

UF dcd F TGHEATF T g9 §eqr 298 81 AR THH
ATEF | 188 =i &, qT THehT TLHTI] HE&AT FT ¢ |

(a) 188.0 (b) 488.0

(c) 298.0 (d) 110.0

Identify the elements having electronic configuration 2,6.
AT To=ITe 2,6 ATl dedl it Tg=Td &1 |

(a) AITZEISIA / nitrogen (b) SFIST / oxygen

(c) T / Fluorine (d) sTHI= / Bromine

The atomic weight of an element is w and atomic number
is N. What will be the number of protons in the center of
this atom.

—
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35.

36.

37.

38.

39.

40.

U Tcd T TEATY] AT w 37T TLHATI] §&3T N § | 36 TTAT

F Fex | TSI T HeaT At g |
(a) N (b) W
(c) W-N (d) W+N

The mass number of an isotope of an element is 298. If it
has 196 neutrons in its nucleus, its atomic number is

U T % ATSHIETT 6T TSHTT HeaT 298 g1 T T8 ATIHF
H 196 I &, T THHT TLHT] H&AT 2l
(a) 494.0 (b) 102.0
(c) 298.0 (d) 196.0

T T % ATTHE H 10 Vel $fi¥ 17 =qeiF Iqead gl 3t
FETHTT HEAT 47 T |

An element has 10 protons and 17 neutrons in its nucleus.
What will be its mass number.

(a) 10 (b) 27

(c) 7 (d) 17

What can be concluded from 6C12 about the carbon
atom?

T TLHTI] & A § 6C12 & FT e et ST @ehar &)

(a) Ithas 12 neutronsand 6 electrons/ TaH 12 =Ieiq £ 1Ky
6 T 2

(b) It has 12 protons and 6 neutrons./ THH 12 Tl T
6 T2 & |

(c) It has 6 protons and 12 neutrons./ THH 6 Tl 3T
1279 & |

(d) It has 6 neutrons and 6 protons./ THH 6 =i #T 6
T 2 |

What is the atomic number of an atom which has 10

protons and 11 neutrons?

T THT T TLHTI HE&AT FT gial g PrEH 10 Teid i

1172 e & |
(a) 1 (b) 10
(©) 11 (d) 21

What is the reason for the difference in mass of the
molecule of the isotopes of an element.

U qcd o THEATAET % (0] F TAHTT § FqL FHT HILOT T

gl

(a) different number of protons in their nucleus/ 3%
AT | T T S-S HeAT

(b) different number of neutrons in their nuclei/ 3%
AT | I T S-SR T §eAT

(c) different number of electrons in their nuclei/ 3%
ATFrF T AR T ST TeAT

(d) different number of valence electrons/ HATSH
TAFIAL T A= FHEAT

Which of the following is a property of isotopes of an

element.

erforfea & & w9 a1 Bl o % gaeartaet #1 I 2 )

(A) they have the same atomic mass/ 39 TIHTI ST HTT
AT BT ©

(B) They have the same atomic number./ 37 TTHTT
FHTH THIT 21 2

41.

42,

43.

44.

45.

46.

47,

(C) They show different physical properties./ I f&rs

AT ToT Tafdha F#2d 2 |
(D) They show similar chemical properties./ I THTT
TrETAT 07 T Fd € |
(@) Band C (b) B,Cand D
(c) Band D (d) A,CandD
Which of the following will not diffuse?
EEEEEICEEEIRCE U

(a) smoke from incense sticks,/ SFTa=IT F el
(b) Perfume vapor/ == #t aToq

(c) smoke/ g3t

(d) fenugreek powder/ ¥t aT3=T

The number of covariances is same.

THATIET H ovvvvvresens T HE&AT T BT ¢ |

(a) ion/ 3= (b) nucleus/ ATF

(c) electron/ Tl (d) proton/ Set®

There are two isotopes of natural chlorine, 75% of 17Clss

and 25% of 17Cl. What is the average atomic mass of
chlorine?

ST FATNT & af GHEATAE 8, 17Clss T 75% =T 17Clss
T 25% FATLT T SATET TIHTI FHHTT FIT & |

(a) 325 (b) 33.5

(c) 375 (d) 35.5

The concept that all atoms of an element are identical was
disproved by the discovery of ..........

g AALTIO [ UF T o THT TTHT] THIT BIA 8, T v
T @IS § T g o w1 o

(a) Amorphism/ Tq&EIdT

(b) isotope/ THEATH

(c) radioactivity/ ¥=arerfdar

(d) co-ordinate/ FHNTIF

The chemical characteristics of ............... are the same, but
the atomic mass is different.

........... T TETEEE FATArd UE 91 g 8, Teq TIHT
oA T gar g |

(@) co-ordinate/ FHHATIF (b) isotope/ HHEATHH

(c) Actinides /TfFeaTzsH (d) isomer /HHTATAT
Because carbon being tetravalent and forming covalent
bonds, carbon shows ....

T T ATHATSIT BI * HILT AT I TgEATSAF 5
AT o FHTCT, FTET ... FTATE |

(a) hydrocarbon/ gTegraTad

(b) single covalent bond/ THe HZHATSF S

(c) shear/ sTa&Eqar

(d) chain binding/ JETagT

There is usually a combination of positively charged
elements.

TT: AT qedl it FATSTHRaT gt & |

(@) 0,1,2 (b) 4,3,2

(c) 2,1,0 (d) 1,2,3

—
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HISTORY

|

In which year was the system of Sati abolished by William
Bentinck?

farforr e 3 grer =<t o foFer ad wwme i e 2
(a) 1827 AD/1827 % . (b) 1825AD/1825 % .
(c) 1829 AD/1829% . (d) 1830 AD/1830% .

Sati system was abolished in India by-

ATLT T TAT TAT 7 q9TH 62T 27-
(a) Lord Dalhousie/ @TE SIS
(b) Gandhiji/ reft St

(c) LaiBatik/ =T Sfe

(d) Lord Curzon/ @TE Fsi

What were the houses of the Indus Valley made of?

ey =TeY & =< fores aaTe ST 9

(a) brick/ 2= (b) Bamboo/ &

(c) stone/ 9T (d) wood/ TF=T

Which of the following are indicative of the commercial
and economic development of the time in the remains
found in the excavation of the Indus Valley?

fRfer =TET it gare § fAer sTaert § qeRTe T AT wHi
st forenme & 2w fer d§ F #1987

(a) pottery/ fﬁ'@ F AT (b) Currencies/ 1131‘@

(c) boats/ AT (d) house/ T

To which era did the Harappan civilization belong?
FEUT T q¥raT o 77 T o2

(a) Bronze Age/ F I

(b) Neolithic Age/ FaqTdToT T

(c) Palaeolithic Age/ TXTATITIT I

(d) Iron Age/ &g T

What was the main occupation of the people of the Indus
Valley Civilization?

e ATET & F¥IAT 6 ARN T G HTE FT AT ?

(a) business/ =TI

(b) animal husbandry/ 7T 9Te1-

(c) hunting/ forwTT

(d) agriculture/ Ffor

What is the script of Indus Valley Civilization?

g =t gaar & forfo e = 8-

(a) Tamil/ affer (b) Kharosthi/ @Zrgt

(c) unknown/ 3T=Tq (d) X/ argft

In which of the following Acts the practice of Sati was
declared illegal?

erforfea § & fore stferfae & |t s & sraefae Jiua
[ERIRIRIV

(a) Regulation XV of 1829/ =9I XV 3% 182

(b) Regulation XIV of 1829/ Ig9r XIV A 1829

(c) Regulation XVI of 1829/ I7g=9I_ XVI 3 1829

(d) Regulation XVII of 1829/ Y9I XVII &% 182

9.

10.

11.

12.

13.

14.

15.

The discovery of scales has proved that the Indus Valley
people were familiar with weights and measures. Where
did this discovery happen?

Tt i @ 7 78 g w7 T g 5 e ard Fnr A
Y T & TR ) T @I Fgl TWEs ?

(a) Kalibangan/ sreftevr

(b) Harappa/ gsvdT

(c) Chanhudaro/ H@?@

(d) Lothal/ &r=rer

Which of the following materials was mainly used in the
making of Harappan-period coins?

Fefafed & & e 357 &7 STINT G200 FT 6T qRTeA -
fAwTo 7 g =7 7 gy 1w o

(a) Terracotta/ TLTIT (b) Bronze/ &rET

(c) copper/ d@iaT (d) iron/ =T

An important creation of the Indus Valley people was the
sculpture of which one of the following?

&g =T *F @R AT UF dgaql =T Hefofea 7 '
Farerey fiF ot 2

(a) Nataraja/ xrst

(b) dancing girl/ T FIAT g2 ATICTHT

(c) Buddha/ 9=

(d) Narasimha/ F¥f&egT

In which year was the Harappan civilization discovered?

ZETAT ¥ AT 1 @is o a0 | g2 ot ?
(a) 1935 (b) 1942
(c) 1901 (d) 1921

Which is the port city (port) of the Indus Valley
Civilization?

e |TET ¥ IAT T 99 W AT 8-F0 (TREE)?

(a) Kalibangan/ FTe(1&RTa

(b) Lothal/ et

(c) Ropar/ TTE

(d) Mohenjodaro/ WTgaSIIZ=T

At a place called Lothal, which of the following
civilizations had a dockyard?

AT ATHF T 9%, [HHh qegqrant § & Frser stgreir
HITHTE AT?

(a) Indus Valley/ f&e =rét

(b) Mesopotamian/ HHIIIETHATS

(c) Egyptian/ fasft

(d) Persian/ wTet

Which of the following cereals was one of the first to be
used by man?

Feferfea § & 19 97 o AT g7 Ha9 T8 TART 2=
FATALH T AT?

(a) Barley (Yav)/ St (T9)

(c) Mustard/ TS

(b) Oats/ 55 (32)
(d) wheat/ g

—
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16.

17.

18.

19.

20.

21.

22.

23.

24.

Which metal was first used by the Vedic people?

Ffeh AT G T GTq T ST qgel T 13 o7 ?

(a) Silver/ =tar (b) Gold/ =T

(c) iron/ HTET (d) copper/ @iaT

The word 'Veda' means-

I 9157 AT AT -

(a) knowledge/ T (b) intelligence/ E;[@"Fﬂ
(c) efficiency/ FereTar (d) power/ e1f<f

The Aryans were successful in their conflicts with the
Aryan-East because—

AT, ATAYAT F T I HAT § THA G-, FAN -

(a) They used elephants extensively/ 3vgiv a2 FHT9 9%
TFRTt =7 ST P

(b) they were taller and stronger/ ¥ STTer% &l 3ii¥ 7faF
FAATT o

(c) They belonged to an advanced urban culture/ 3 T®
I AT FERT H I

(d) They used chariots drawn by horses/ Segi= JTET §TIT
FATT ST T TAT /T TR 62T /

Sati practice was abolished by-

AT AT T ITHAA (AT

(a) Warren Hastings/ a3 gieevar o

(b) Raja Ram Mohan Roy/ TTSIT THHIEH 11T

(c) Lord Wellesley/ &TE Jeiste(l o

(d) Lord William Battick/ =T faforaw afes &

Who was the first European to call 'Ayo’ a race?
"SAT T TF AT Fgel ATAT TEAT LTI I AT ?
(a) Sir William Jones/ &% faferaw st

(b) H.H.Wilson/ U= faeq= .u= .

(c) Max Miiller/ #FaHaT

(d) General Cunningham/ S¥I&et e

Brahmo Samaj was founded by-

] THTST T TITIAT il -

(a) Swami Vivekananda/ ®aTHT faasvs
(b) Dayanand Saraswati/ @37+ qLEadt
(c) Keshvachand Sen/ Fera=r=s A=

(d) Ram Mohan Roy/ TTH Higd T1d

In what can the origin of Indian music be traced?
AT |01 7 SEH TFad GISAT ST TohaT 872

(a) Inthe code of Rigveda/ Fva= #it wigar &

(b) In the code of Yajurveda/ T[4 < #if &fgar &

(c) Samhita of Samveda,/ |THa= T &igar &

(d) In the code of Atharvaveda,/ sraras i &fgar &

Birth place of Gautam Buddha was-

T T T TH-EATT AT-

(a) Kushinagar/ @Qﬁmw (b) Sarnath/ |1
(c) =TT / Bodh Gaya (d) Lumbini/ =t
Where did Lord Buddha give up his life?

AT 5 7 TTT Fgh AN ?
(a) Rajgir/ TeR{T

(c) Sarnath/ #TLATT

(b) Bodh Gaya/ aremTaT
(d) Kushinagar/ 379ﬁ7ﬁ'|T

25.

26.

27.

28.

29.

30.

31.

32.

Which language was used more for the propagation of
'‘Buddhism'?

T Ao T SATET AT 'AigaTe’ % =T+ forw R e
(a) Sanskrit/ HEFd (b) Prakrit/ 9T

(c) Pali/ arfer (d) Shauraseni/ 9iZaT

Identify the Buddhist literature from the following :
e ¥ & atg arfeey &t Tg=T H

(a) Tripitaka/ Frfoe®

(b) Upanishads/ 39f9ug

(c) organs/ 3T

(d) Aranyak/ 3mTugs

"Tripitak" is the religious text of-

" e -arfiw g g

(a) Jains/ =Tt =T (b) Buddhist/ st&T FT
(c) Sikhs/ forarat =1 (d) Hindus/ f&=gaft 1
Buddhism left a significant impact by uniting the two
sections of the society. These classes were-

ST o T THTS 6 &7 F91 1 T T TEHT UF Tgeaqor
THTE BIETI a0 3

(a) Merchants and priests/ afors T& qfed

(b) money lenders and slaves/ HTgHT U aTH

(c) warrior and merchant/ FTET U& AT

(d) Women and Shudra,/ &= Ta 9=

By whom was the Gandhara school of painting initiated?
TRrsreRaT T e SretT T g e g7 AT 3T o ?
(a) Hinayana sect/ a1 S9aTT

(b) Mahayana school/ HETITT HIaTT

(c) Vaishnavism/ asuore €&

(d) Shaivism/ 9t H9aTT

According to the belief of Buddhists, who is considered to
be the next incarnation of Gautam Buddha?

TG & TsaT STET TH g5 F7 0T saare B 7T
STAT g ?

(a) Atreya/ 33 (b) Maitreya/ #3%

(c) Nagarjuna/ STVITS[T (d) Kalki/ Ffe®

Coins made of metal first appeared in-

o7 | a1 {8 T99 928 TFe g0 A-

(a) Harappan civilization/ g99T T¥IaT §

(b) in later Vedic period/ 397 afa= &1 &

(c) inthe time of Buddha/ & F A H

(d) during the time of the Mauryas,/ ®1T & &Tef &

In which of the following were the early Buddhist
scriptures composed?

TTETW g g9 Joff it =1 s 6y T off-2
(a) Prakrit text/ 9Tehd 915

(b) Pali text/ 9Ts(T 915

(c) Sanskrit text/ §&hd T8

(d) hieroglyphic text/ =@ aTs

—
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33.

34.

35.

36.

37.

38.

40.

41.

In Buddhism 'Bull’ is associated with which event in the
life of Buddha?

g o F | A T TSI g F S T R AT F Ay g2
(a) birth/ s=H
(b) Mahabhinishkraman/ Hgrfarfaesaor

(c) Prabodh/ sare
(d) Mahaparinirvana/ Fgrafef=ator

Who among the following was more influenced by
western philosophy than Indian philosophy?

e § § F19 AT 29 T AT qrATe 799 7 AfaE
AT o .

(a) Raja Ram Mohan Roy/ TTSIT THHIEA T

(b) Swami Vivekananda/ FaTHt faasTvs

(c) Dayanand Saraswati/ Z3Tvg ¥t

(d) none of the above/ I & & IS Al

At which of the following places did Buddha attain
Mahaparinirvana?

5 « Aafefaa # 7 frg woe 9w sgratfaatr s B
a1?

(a) in Kushinagar/ Fefive &

(b) in Kapilvastu/ #fueraeq &

(c) inPava/ 9maT #

(d) in Kundagram/ F=Ime &

Where was the ancient university of 5th century
established in India?

AT § 5 Y orarsat Y= fafaramer it wamaer #gt 6t
TE oft 2

(a) in Varanasi/ a*ToTHt &  (b) Gaya/ 3T &

(c) Nalanda/ ATetat # (d) Taxila/ Terforer &
Who was the first Tirthankara of Jains?

ST & el i w97

(a) Arishtanemi/ sT¥eaft

(b) Parshwanath/ qrsaT

(c) Ajitnath/ sTfora«Tr

(d) Rishabh/ 9w

Who was Mahavir?

TR A 7

(a) 21st Tirthankara/215 drf®< /

(b) 24th Tirthankara/243 drf#z

(c) 23rd Tirthankara/23% =<

(d) 22nd Tirthankara/22% T

Who was the mother of Mahavira?
AT &1 77T *i 2ff?

(a) Yashoda/ ZemraT

(b) Anojja/ AT

(c) Trishala/ frerer

(d) Devanandi/ ZaTa+at

Who among the following great men is known as the
father of 'Indian Awakening'?

42.

43.

44,

45.

46.

47.

48.

49.

T AETEul § & FI9 "AIA T SR &1 S9F Fgdrdr g -
(a) Raja Ram Mohan Roy/ TTSIT TTHHTES 10T

(b) Vivekananda/ faa=ma==

(c) Rabindranath Tagore/ TH/aATY &TIT

(d) Dayanand Saraswati/ ZTvg H¥EadT

The earliest Iron Age in India is associated with—

AT § HaH T A1 I S[ET g9 -

(a) With Painted Gray Ware/ =3 AT JGIel & a1

(b) with black and red ware/ el 3T AT TGSt % AT

(c) With Ocher Colored Ware (OCP)/ 3% 1 & Jgiei &
T (AT

(d) With the Northern Black Polished Ware/ 39T et
TifereT aTer gEISt & AT

Which was the first ruler responsible for the rise of

Magadha?

T % IATH & ToIT FRIHT IO 9TTHF STLarAT Aq7-?

(a) Bindusara/ fagam / (b) Ajatashatru/ 3TSTTqer

(c) Bimbisara/ fafasme (d) Vasudev/ amea

The language used to write source material in ancient
times was-

T T | &1 AT o & forg sepeh Ao =ff-
(a) Sanskrit/ F&Ha (b) Pali/ dTfer
(c) Brahmi/ aT&ft (d) Kharosthi/ @arst

Herodotus is considered to-

SLISIEd &l HAT 74T -

(a) Father of History/ ZfdgTe &T S

(b) Father of Geography/ STl & ST

(c) Father of political science/ TSI ATE T T
(d) Father of Philosophy/ ¢TI & SAF

Brahmo Samaj is based on which principle?
ER RIS RE R PAG R R

(a) Polytheism/ dgz&ddT=

(b) Monotheism/ THaTATE

(c) Atheism/ e=a¥ara

(d) Monism/ srgaaTa

Alexander (Sikandar) and Porus fought in -

TR ST — 3I¥ T8 o AeTe st o7 ()

(a) in Hydaspes/ grzs¥dis &

(b) inJhelum/ FeH |

(c) in Panipat/ aTiaa &

(d) in Tarain/ <724 &

Who among the following sat on the Mauryan throne
after Chandragupta Maurya?

T | {1 % arg 74 Ry o Aufiea § 7 @ 9ot

a7 ?

(a) f&fe®T® / Bimbisara (o) %@'{TIT / Bindusara
(b) s1eTr / Ashoka (d) fa=upTE / Vishnugupta
Who drove the Greeks out of India?

JATIAT T AT & qTg? e fHawrar 912

(a) Chandragupta Maurya/ Jsi[8 EID)

(b) Chandragupta Vikramaditya/ =& [EER L

(c) Ashoka/ sTeTTs

(d) Bindusara/ ﬁ'g'ﬂ'l?

—
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310.

311.

312.

313.

314.

315.

316.

(c) Sir John Lawrence/ HT SIF AA<H
(d) T.R.Holmes/ & g .31Y .

Who led the Santhal rebellion?

eIt fAa%rg &7 Aqea o B om?
(a) Master Tara Singh/ AT¥< a1 fig
(b) Jaipal Singh/ STt f&g

(c) Shibu Soren/ fﬂqaﬁ—rr

(d) Siddha and Kanha/ f&rg ud &g

Which movement was led by Siddha and Kanhu?
g T g T B seare &7 Agea BT am?
(a) Dota Nagpur Bhil/ ETeT 9T fter

(b) Santhal/ &=qTeT

(c) Munda/ HqUsT

(d) Cook/ FehT

Which British commander was defeated by the Santhals
in 18557

1855 H HATAT o T3 3T FHIST &7 gL1AT?

(a) Lieutenant Baston/ @f¥ede areat

(b) Captain Neck Faville/ v 7 i

(c) Major Bari/ ¥<TT a1t

(d) Colonel White/ F-e ZgTee

Which of the following commissions is related to the new
organization of the Indian Army after the suppression of
the Revolt of 18577

Fefofaa & & %19 91 9raR1-1857 #71 fAgig 399 & 918
ATEATT BT o 99 TMST F GFIed g7

(a) Peel Commission/ ¥IeT ST

(b) Public Service Commission/ Tfeees Trfder ST

(c) hunter commission/ gwe< STATT

(d) Simon Commission/ HTZHT FHIIT

Who was the leader of the Munda Revolt of 1899-19007?
1899-1900 & TUET HTd FT AAT FHI AT?

(a) Budha Bhagat/ 9T \Tq

(b) proven/ f&rg

(c) Birsa Munda/ fa=®T queT

(d) Shambhudan/ SFqETT

Which was the field of work of Birsa Munda?

TS HT qU=T T FF & A AT AT -

(a) Ranch (b) Champaran/ T LT
(c) Ballia/ aferaT (d) Alipore/ SIAIq¥

Who was the Guru of Birsa Munda?

317.

318.

319.

320.

o =T F T FA A?

(a) Anand Pandey/ 3H< qTUe

(b) Swami Sahajanand/ Tt LESIGES

(c) Jatra Bhagat/ STTAIT 93T

(d) M.N. Opinion/ TH 1T .U .

Did the Mundas raise a rebellion?

queTet 7 fagie weT o am?

(a) in 1888/1888 & (b) in 1885/1885 &
(c) in1890/1890 & (d) in 1895/1895 &
Who was the author of the book Geetgovind?
raTIfae ATH T % o= w7 ?

(a) Jayadeva/ STTea

(b) Raskhan/ T@@TT

(c) Gopal Krishna/ TTaTer 30T

(d) Ramanand/ YT

Match List I with List II and select the answer using the
codes given below the lists

AT 1 7 T 1 & FgHfer fifore s gt F = oo
Fel T AETAAT & T T T Ao
CEEUERIAEEARRE I N EA E R EA LRI ERZ-Ea kL)

(Tribes who revolted against the British (year of)

List-1/ -1 List-11/ -1
A. Khod /@Te 1. 1820
B. Santhal /&1t 2. 1846
C. Cole /&I 3. 1831
D. Munda /H=T 4. 1855

(@) A-3B-2C-1D-4 (b) A-3B-1C-2D-4

(c) A-2B-1C-4D-3 (d) A-1B-4C-2D-3

Which of the following pairs (tribal insurgency in
Chhattisgarh and its leader) is not correctly matched?

et & & At St (FRase @ arfeard fH&ee vd

IEET AAT) AT Tl 82

(a) Tarapur Rebellion (1842) - Dalganjan Singh/ TTXIX
fagre (1842) - i fig

(b) Paralkot Rebellion (1825) - Gend Singh/ Tl
fasrg (1825) - = fig

(c) Mandia Revolt (1842) - Hidma Manjhi/ #f2=T sy
(1842) - fg==T wistT

(d) Any rebellion (1859) - Gopinath/ #TE fagg (1859) -
T

(e) Bastar Rebellion (1910) - Gundadhur/ s%a< fagrg

(1910) - {17

Il

GEOGRAPHY

Il

Where is the National Rice Research Institute located?
T ATTA ATHLTT TEATT Fgl gl

(a) Cuttack/ &c®h (b) Delhi/ faeeft

(c) Jodhpur/ Gﬁa"i'{ (d) Nagpur 919X

2.

Which of the following cities of India is closest to the

Tropic of Cancer? /sd & fReferfed vt § & #17 Fa
YT F qAH TG 87
(a) Imphal /ZFRTA
(c) Raipur/ TIYX

(b) Agartala/ 39T«

(d) Aizawl/ sEsirer

—
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10.

Which is called the country of the rising sun?
ST A T 297 TR gl ST 2l

(a) Japan / STqTH

(b) America / sI&fT

(c) China /==

(d) None of These / 378 & FIs AT

In which state is the Sundarbans Tiger Reserve located?
Havad et e e oo 8 Raa 87

(a) Odisha / sfRerT

(b) Andhra Pradesh / er J=er

(c) Assam / THH

(d) West Bengal / 9f% s¥Tel

Which national park in Nepal is an extension of Valmiki
National Park of India?

AITA H 4 G7 TEIT IATT TG % AT R TEIT IJ2ATT T
e g

(a) Bandipur National Park / ST&IqZ TS I2ATH

(b) Chitwan National Park / f=r@a= 8T 3=

(c) Jim Corbett National Park / o/ Fide Trgia 3=ma

(d) Dudhwa National Park / 2T TTEIT I=2ATH

Tropic of Cancer passes through-
% YA o 2-

(a) From Tripura/ ]%E[{T T

(b) From Madhya Pradesh/ W&T WaeT &
(c) From Mizoram/ fsm<w &

(d) all of these/ =7 &sft &

Which is the longest lake in India?
AT T Tag FdT H i €1 82
(a) Kolleru Lake / #Ter= sfier

(b) Pulicat Lake / qefiohe e

(c) Pangog Lake / 97T #fie

(d) Vembanad Lake / 3¥a¥Tg =t

Tropic of Cancer passes through how many Indian states?

Trae 9T Y9t ¥ graT w4 ¥@T (Tropic of Cancer)

Tt 52
(@) 8 (b) 6
(@ 7 (d 9

Damodar river is called mourning of Bengal because
TTHTET TET T ST FT 9 Fgl SATAT &, FANH
(a) it causes maximum soil erosion
THH SATHAH T TG 2T §
(b) Itis often accompanied by catastrophic floods.
THH YT T TA ATAT S8 AT B
(c) Itisnota perennial river.
T ATTEATHT T4 Tl 2

(d) It creates many dangerous waterfalls.

TEH AT GACTE AL a ST 2

What is the name of the confluence of the rivers
Alaknanda and Bhagirathi?

AAFART 3T ANt AT % EH FHT FT 979 872

(a) Devprayag / SaSATT (b) Rudraprayag / ®=9d11

11.

12.

13.

14.

15.

16.

17.

18.

19.

(c) Kedarnath / ameaTY (d) Haridwar / gftgm™

Which of the following longitudes is called the "True
Meridian" of India?

fArrforfra Serra<l & 19 |7 9T Hi-" ITHTOE HedTeg @r

FEeTAl &7

(a) 85°30' East/85°30' &t (b) 87°30' East/87°30" Tt

(c) 84°30' East/84°30' &t (d) 82°30' East/82°30' TdT

Which is the river called Tsangpo in Tibet?

e & AT FgATT ATl af Hie = 22

(a) Brahmaputra / SE[q{ (b) Ganga / ITT

(c) Teesta / faeaT (d) Indus / &g

Ten degree channel separates-

9 =t == oI F2ar 2-

(a) Andaman from Myanmar/ SIUEHTT &I STHTL §

(b) Andaman from Nicobar Islands/ 37EHTH # fA#FETT
RG]

(c) India from Sri Lanka/ ST%a T et &

(d) Lakshadweep from Maldives/ F&AZIT T HTAGIT &

Which of the following is a lake situated on the border of
two Indian states?

i # & F1 21 AT TsAT B AT 97 A =i 82
(a) Kolleru / Fars (b) Chilka / F=re=T

(c) Pulicat / fershe (d) Lonar / AT

The meeting point of 80° east longitude and Tropic of
Cancer is-/80°

AT FITAY 3T ek ¥ET T o faeg 2-

(a) in Maharashtra/ AgeTg &

(b) In Andhra Pradesh/ 3=er <o &

(c) in Uttar Pradesh/ 3¢ weor &

(d) in Madhya Pradesh/ H&x Jaor &

Indian Standard Time (IST) is taken from near which of
the following places?

T |71 997 )IST) Feferfaa samt & & e T
GAERISICIES

(a) Lucknow/ sT@_ 3

(b) Allahabad (Naini)/ TATETETE (A1)

(c) Meerut/ #%3

(d) Muzaffarnagar/ TFHTTL

The meridian of Indian Standard Time (82°30°) passes
through which city?
AT ATAE J97 6 F9T=a¥ @1 )82°30°) fohg e &

BT AT 27
(a) Delhi?/ faeet
(c) Patna/ 9edT

(b) Nagpur/ AT T{Z
(d) Allahabad/ TeTgmaT®

Loktak is a

Alde® g TH

(a) river / T&¥ (b) Valley / =Tt

(c) ranges / TAAHTHAT (d) Lake / ==t

The meridian of Indian Standard Time does not pass

through

—
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20.

21.

22.

23.

24.

25.

26.

AT AIAH G0 6 T Tl [oredt &

(a) From Chhattisgarh/ s=ftae &

(b) From Andhra Pradesh/ 3¢l TaoT &

(c) From Maharashtra/ AgTg &

(d) from Uttar Pradesh/ 3% Ta9T &

Bhakra-Nangal is a joint project

(a) Haryana-Punjab-Delhi / gt l-a<TTa-

(b) Haryana-Punjab-Rajasthan / XTI ISIEATH-GSTd-

(c) Punjab-Delhi-Rajasthan / GSITaeTSTeIH-fawA -

(d) Himachal Pradesh-Haryana-Punjab / f@am=er w=a-
T-gRATTSSTa

If sunrise in TIRAP in Arunachal Pradesh is at 5.00 am

(IST), at what time (IST) will sunrise be in Kandla in

Gujarat?

T == q29r § faed )TIRAP) & g=7eT 5.00 a7 9T

)IST) U< ZTaT &, AT [oITa § HTveeT H AT 68 997 )IST)

T ERIT ?

(a) About 6.00 am/ = THIT 6.00 9T/

(b) About 5.30 am/ =TT 5.30 ITd:

(c) About 7.00 am/ = HIT 7.00 ITd:

(d) About 7.30 am/ ST 7.30 ITd:

Which is the world's highest gravity dam?

s T qar® AT & iy FIF 971 8?

(a) Koyna Dam / FI=T i

(b) Rihand Dam / fg== =ity

(c) Nagarjuna Dam / Hﬂﬂﬁi'rr E1E]

(d) Bhakra Dam / WT@ET ater

On which river is the Hirakud Dam built?

BRTEE Aty o T 9 T T 82

(a) Narmada / sTH=T (b) Shivnath / fora=Tr
(c) Son / &9 (d) Mahanadi / AgTa&T
The origin of Indira Gandhi Canal is

Rt TEr AT SEw eI B

(a) Bhakra Dam / ATEET atg

(b) Gandhi Sagar Dam / TTieft AT ater

(c) Govind Sagar Dam / Tfa& AR i

(d) Harike Barrage / g% STt

Operation Flood is related to?

Ao weore T gvafaa g7

(a) Drinking water system / 9= & 9T+ T =ZareT
(b) Flood Control / g fa=r=ror

(c) none of the above / ST4F H & FIE Al

(d) milk production / 4 3cqTad

The farthest southern point of India is-
AT T gZ2e aferft foeg 8-
(a) Rameshwaram/ TI'EF"EITFL

(b) Kanyakumari/ EIF&'I'@:IT&

(c) Indira Point/ Tf*a¥T w1

27.

28.

29.

30.

31.

32.

33.

(d) Point Kalimer / TS FHTeIHT

In which of the following states the sun appears first in
India?

AT | Ha9 Tgo e § § e 5T § 1 RErs
AT a?

(a) Assam/ TqH

(b) Mizoram/ for=tsr

(c) Arunachal Pradesh/ ST&0TT=et Waer

(d) Nagaland/ AT E

Which one of the following pairs of states of India
indicates the easternmost and westernmost state?

T & Tredl &1 fafed § § 997 UF [09-, 99 741

i e atardT T A7 ST Far 82

(a) Arunachal Pradesh and Rajasthan,/ ST&UTT=e T39T 3T
NEIE)

(b) Assam and Rajasthan/ 379 3fi¥ TTSTeaTH

(c) Assam and Gujarat/ /¥ < ToITd

(d) Arunachal Pradesh and Gujarat/ =UITael WeT ST
NSRS

What are the crops grown after the rainy season called?

FUT 9Tq % HIEH & a1 IATAT ST ATAT FEA FAT FgeATd T

?
(a) Rabi / Tt (b) Kharif / @¥t®
(c) seasonal / werHt (d) Annual / aTfi®

How many hours will there be a difference between the
time of Walang, the westernmost village of Gujarat and
the easternmost village of Arunachal Pradesh?

TSI o FE T I ST &0t T297 F qae T B¢
¥ R arerir o'W # R w5 T A geT-

(a) 2 hours/2 2T (b) Bell/ | a1

(c) 3hours/ 3 =eT (d) 1/2 %<1/ 1/2 hour
Which of the following is the main producing area of hot
spices?

fRaforfea & & T8 79Tl 7 47 ITA1EF & Fid 97 82
(a) Andhra Pradesh / 3iter saer

(b) Deccan Trap / T &9

(c) Sundarbans Delta / §&¥a+ eeT

(d) Coromandel Coast / FITHEA T

Green Revolution means

g ®ifd )Green Revolution) & I &

(a) to grow more crops / STerE FE IATAT

(b) Use of green manure / g<1 @T& &T TR

(c) High Product Diversity Program / 3g 3caT fafarear
TRITH

(d) green vegetation / g4I FAEA(T

Which one of the following crops is known as White Gold
in Maharashtra?

ey # Mwferfea & & #9 ff v woe T =07 )White
Gold) AT | SITHT SITAT 87
(a) Maize / 9T

(c) Sugarcane / IT=T

(b) Wheat / g
(d) Cotton / F9TH
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34.

35.

36.

37.

38.

39.

40.

Which of the following alternatives is the purest form of
coal?

et et § & FrIar &1 999 3 7 #7757
(a) graphite / I

(b) Enthecite / T€TZE

(c) Charcoal / ST T FIIAT

(d) Kajal (collyrium) / TSIt )collyrium)

Sarnath is situated in-/ |TZATT fEora &-
(a) in Maharashtra/ ¥gTg &

(b) in Kerala/ % &

(c) in Gujarat/ SI2Ta &

(d) in Uttar Pradesh/ 3¢ W< &

Which of the following is the state of India, which is the
leader in the production of Sulfur 11 (Sulphur)?

ffofag & & 9 7 98 a7 ®i9 97 g, S WgE 11

)R IcaTad | SR g (?
(a) Haryana / gf=mom (b) Assam / ITHH
(c) Tamil Nadu / af@==1g  (d) Punjab / 9=Ta

Gujarat is the largest producer of salt in India because:

TSI AT | 79 T Ga9 T ICATEF 8, F 16

(a) The amount of salt in the water of its banks is high.
THE q2T o STl H AHF il AT AT g

(b) It has wide dry coast.
TH IT9 TaEqq 5% q< 2l

(c) Besides producing salt from brackish water, it has
reserves of mineral salt.

G A T q9F FT ICTET F F (AR SHh 16
GiAST THF F W 2
(d) It has wide shallow sea.

TEH I THEqa S AT 2

Arrange the following states of India in descending order
of their territorial size-

qTed & fAeferferd Treat &1 S e ArRTe F raiat 79
H Fafead -

1. Andhra Pradesh /3T Jaer

2. Madhya Pradesh /@& Jaer

3. Rajasthan/ T<T#=T

4, Uttar Pradesh/ 33T Ja9r
Select the correct answer from the code given below-/

= 28 T e | F 9L I FT T Alford-
(@) 3,2,1,4 (b) 3,1,4,2
(0 42,1,3 (d) 1,3,2,4

Cherrapunii is located in -/ JTsT FATEAT g —
(a) In the state of Manipur/ nﬁrg'( T H

(b) In the state of Assam/ 3T&H <7 |

(c) In the state of Meghalaya,/ ¥=TeT =T |
(d) In the state of Mizoram/ fR=i=w Trea ®

Which of the following states has the least area?/ &%
=TT H | ToREET e g9 w9 67

(a) Gujarat/ ST

(b) Andhra Pradesh/ 3eer J2or

(c) Karnataka/ FATes®

(d) Tamil Nadu/ Tf¥e=rg

41.

42,

43.

44,

45.

The correct descending order of the formation of the
following states is-

frferfera vt 3 Ao &1 9t sraet w79 8-
(a) Haryana, Rajasthan, Maharashtra,/ gf=TIT, TTSTETH,

(b) Maharashtra, Rajasthan, Haryana./ AgI{g, TSEA1H,

g
(c) Rajasthan, Maharashtra, Haryana/ ¥TST&ITH, g0,
g

(d) Haryana, Maharashtra, Rajasthan/ gR=TUIT, AERTE,
STEITA

Which of the following statements are correct about
India? Use the code given below to select the correct
answer :

At ol & & F9 F 97 F 9 ¥ 927 82 98t 397

F AT g AAATET @ HT ITAR AT
1. India is the fifth largest country in the world./ 9TZq
s =T qi=raT F2T 39T B

2. It occupies about 2.4 percent of the total area of the
lithosphere./ Tg TITAHISH & Tl &ATFA HT AT 2.4
sfarerd W stfera fhu g gl

3. The whole of India is situated in the tropical zone./
AT AT IO wfeaed # 2 2

4. 82°30' Eastlongitude is used to determine the Indian
Standard Time./ 82°30' T&T 9T T ITANT AA T
HqTF G897 &7 i F7 F foro B smar 2

%< :/ Code:
(@)2 and 3 (b) 1and 2
(c)land 3 (d) 2and 4

In terms of area, what is the place of India among the
countries of the world?

ST %l g@@rwm%%%%9ﬁﬁaﬁ=rmzw%?

(a) sixth/ ==t (b) fifth/ Tr=at

(c) seventh/ &raat (d) eighth/ stsat

In which of the following state is the Hatti gold mine

located?

aforfea & & o o7 # g2t 9 it @ Rua 22

(a) West Bengal / af2re avrmer

(b) Maharashtra / g

(c) Karnataka / Fie®

(d) Odisha / &rfsam

The extent of territorial waters of India is-

T % IOk STer &7 T e 2-

(a) up to 6 nautical miles from the coast/ T & 6 H’ﬂff
HeT T

(b) up to 3 nautical miles from the coast/ T & 3 H’ﬂff
HeT T

(c) up to 12 nautical miles from the coast/ 7 & 12 H’ﬂ?ﬁ
HT T

(d) up to 24 nautical miles from the coast/ T & 24 mi??r
et T
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